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Correct Marks : 1 Wrong Marks : 0
Identify the correct definitions for the following given phrases respectively:
Taxon, Lead, Couplet, Monograph, Botanical garden
A. Contam mnformation of one taxon.

Each statement in the ‘key’.

Collection of living plants for reference.

Represent a unit of classification.

MY 0w

Contrasting characters in a pair.
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Correct Marks : 1 Wrong Marks : 0



Based on the followimng characters identify the organisms respectively
— Cell wall with pseudomurein

— Cell wall with mucopeptide

— Marine bioluminescence

— Cell wall made of protein rich pellicle and found in stagnant water
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Options :

Methanogens. Bacillus, Noctiluca, Euglena
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Match the following lists:

List-I List-1I
A) Camerarins I) Conduction of water through xylem
B) Hales 1) Phylogenetic classification

C) Father of botany 1III)  Sexual reproduction

D) Bessy IV)  Historia plantarum
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Options :
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2. %
A B C D
I I IV I

3.9
A B C D
IT I IIT IV

4. %

Question Number : 4 Question Id : 7196501604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the ploidy of endosperms in gymnosperms.

D38 YSEEFOS” ©BIBTYBS0 o) YAES obel 0QeSo.

Options :
Triploid
o GoDRSE



Tetraploid
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2. % Z
Haploid
 QEDBESD
3. ¢ i
Diploid
ANV
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Question Number : 5 Question Id : 7196501605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : Ptenidophytes are first terrestrial plants to possess vascular tissue.

Reason (R)  : Peristomial teeth help in the dispersal of spores in bryophytes.

DBYBSW (A) : LOEPEN TS FeagrLsinad FOS awdied o S8 .

50850 (R) 1 wOIrDes & 00a508 o@Pen AGEXRFL g’ 5 G GEPow.

The correct option among the following is
&8 S0l DDFOS DOGNIO
Options :
(A) is true, (R) is true and (R) is the correct explanation of (A)

(A) 000258, (R) $08036 50050 (A) £ (R) $08 95886,

1. #
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
(A) D0000IG, (R) 0000050 20 (A) 50 (R) 00 Q858 5°¢0.
2. ¢
(A) 1s true but (R) 1s false
g (A) 000056 20 (R) 0080038 s20.
(A) 1s false but (R) 1s true
L8 (A) 00000050 520 20 (R) 0000058,
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Correct Marks : 1 Wrong Marks : 0



Choose the correct statements.
A) Flower 1s modified shoot. but internodes do not elongate as axis get condensed.
B) Unisexual, bisexual and neuter flowers are centripetally arranged in members

of Compositae.

5 In Striga a stem partial parasite, the haustorial roots will developed upto xylem
of host plant.

D) The petiole helps in exposing lamina to light and also for flexible nature.

E) All sub-aerial stem modifications are useful for vegetative propagation.

DO Pgarg S EQouidedn:
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Options :
A. B, Conly
. AB.Clred
A. D, E only
 A.D,E &rdd
2. ¥
B, C. D only
.« B.C.Dargd
C,D. E only
C.D,E &g
4.
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Match the following lists:

ListI List II
A) Presence of eyes on stem I)  Asparagus
B) Presence of scale leaves on the stem II) Garlic
C) The roots origmate from the base of the stem IIT) Solanum tuberosumni

and become swollen due to storage food

D) Fleshy leaves storing foods IV) Zingiber

S8 808 DTS B3BBG

DS 1 DS II
A)  otdng 5509 Sold VTPYEPLD I) &0y OU S0
B) 57005000 areoriien af)etiald ) &S
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The correct match 1s

DO 2
Options :
A B C D
111 II I Y
1. #
A B C D
II 111 1 v
2. %
A B C D
III 1I IV I
3. %
A B c D
I v I 1I
4. ¢

Question Number : 8 Question Id : 7196501608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Choose the incorrect statements among the following.

A) In rice, the pericarp and the seed coat are free and protect the seed.

B) In Rutaceae, the juicy succulent placental hairs of endocarp are edible.
O) The corolla in Ocinimni 1s bilipped, whereas Datura it 1s funnel shaped.
D) Underground stem modification only store food material.

O TR DOTR TPOR Qw0

A) S0 Sothy HOESSS, BB DEMPYt HBTVS G480 OB,

B) SPEIR Sotdd oth DOZS TSN S0igo Gd) SEI0H ST BILOSD.

O) &0 S0ed) Tolld DCIHLT DESE, SeiroP Soth KOPEL W0t Wil DAID
ad)elIPON.

D)  raretdo RoldeS airtilysotee sSieghed G DIPTPOD DU IWFOw.

Options :
A, B only
- A, B @
B, C only
- B, C g
A. D only
S A, D Sorged
C. D only
e C, D Soeghad
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Match the following lists:

List I List IT List IIT
A) Diploid organism 1) Zygote I) Bisexual
B) Monoecious plant 11)  Meiocytes II) Fusion of gametes
C) Continuity of generation  111)  Maize IIT) Haploid gametes
D) Oftspring not identical 1v)  Sexual IV) One generation to the
reproductivity next

&3 Sodd BPLITPLS 23HNG0SW.

s [ g 11 ereoee I
A) S0P e ) Deougesn D &gt
B) &3Derrgon Sy en 1)  DoC3rd ) Hooirdedere SLowE
2023050°¢5 ) Beee
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The correct match 1s

OGS 235
Options :
A B C D
11, 111 11, I 1, IV v, II
1.
A B C D
i I i IV v, IT 1, III
2. &
A B C D

i, I1 i, I 1. 11T w, IV

A B € D
w, IV 11, 11 i, I 1, I

Question Number : 10 Question Id : 7196501610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Assertion (A) : In angiosperms, the outer layer exine of pollen grain 1s made up of
sporopollenin.
Reason (R)  : The inner intine layer carries two male gametes to the vicmity of the

egg cell and central cell of the female gametophyte.

BB (A) 1 eS8 Bedesn) DoI0aDE Sy0 WAkl IS FNTTSIDS”
0 5000090t

5206380 (R) 90300 &8 Py 0P Dotid QYR easseren &9 DoCirtieestdainG ' & edesseasn
00050 BBOHToESN S JEIODRIED.

The correct option among the following 1s
&t S0 OO HDOTDIH

Options :

(A) 1s true, (R) 1s frue and (R) 1s the correct explanation of (A)

(A) 9080038, (R) $0800S5E $50050 (A) % (R) H0S 2.

1. &

(A) 1s true, (R) 1s true but (R) is not the correct explanation of (A)
 (A) D00, (R) H0©0056 570 (A) 5 (R) 0TS 058 5°¢.

2.

(A) 1s true but (R) 1s false
(A) 000G 520 (R) 000030 5000,

3. %

(A) 1s false but (R) 1s true
(A) 002900058 52 570 (R) 0O0000:58.

4. %
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Assertion (A): Removal of anthers from a bisexual flower before anther dehiscence 1s
called “emasculation”.

Reason (R): Emasculation prevents the self-pollination in a bisexual flower.

DB)Ba50 (A) 1 B3DofS RN YSRGS HOISFLL DFPLOS IEE 500t SHTPLD 5" OIS
* Do BE3S0" @otid.
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The correct option among the following 1s
St S0l DN FPOS DOGLIO

Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) 5000038, (R) H0800036 $0050 (A) %0 (R) 003 9586,

1.
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
(A) 0020058, (R) 0000050 20 (A) 50 (R) 003 088 2.
2.8
(A) 1s true but (R) 1s false
- (A) D00WIE 0 (R) 000038 5°¢0.
(A) 1s false but (R) 1s true
(A) D00IR 520 520 (R) $O00SE.
4.%
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Choose the correct statement regarding plant classification.

A) Total number of cohorts in the classification of Bentham and Hooker are 26.
B) Linnaeus has given importance to the vegetative characters.
By Latest theory of plant classification is based on the floral characters and

phylogenetic system.
D) In floral diagram. bract is present on the anterior side of the flower.
E) The study of diversity. history of plant and its evolutionary relationship is called

plant systematics.

S& SSO5CEINN Dote@od VOGN TRgar gD (DO,

A) Jom®a, TVE6 S050eS Swde §EPw Doy 26.

B) O3 00R 2800 LEEFOR FEPIgS FWND.

C) ST SO50E VIPeBiD R VIEFOS, TP SOITVIND STPTRGE)NS) O

D) 2D Dol )y QPOFeBal JIP Holield.

E) S5O JAErgY), WOS, SWSHL D DOEE NoEleTrUa  @igtlde
WODERPDY S0 DPATEIS N Wolrly.

Options :

A. B, C only
A, B, C S5

A, C. E only

. ACESrES
B.D. E only
., BD.E&g®
A.D. E only
A, D, E &Srghad
4, ®

Question Number : 13 Question Id : 7196501613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following lists:

ListI ListII List IIT
A) Flame of the forest 1) Spice, berry I) Colchicum
B) Protogynous 1) Yellow dye 1) Derris

C)  Unilocular ovary 111) Odd sepal anterior III) Butea
D) Zygomorphic V) Corm V) Capsicum

3 Sob 8RO 35DG0S0.

el 1 s 11 greaee 1M
A pSed &0 D) ofold $ge, Ve ) s
B) Qoersipodrayd ) %% Sotd I a6d
C) QEOCHS womrdoDSD  1i) &30 EEHGe Hrorgetiy D) avgdiate
D) > gggu@ém@m 1v)  EodsSw IV)  syéa

The correct match 1s
OGS 2
Options :
A B C D
1, 111 i, [ w, IV o, II

A B ¢ D
L o, II w, I 1, IV 1, IT
2. ¥
A B C D
1,1 1, 11T u, IV w. II
3. %
A B L D
11, 111 11, IV 1, 10 w, I
4, %

Question Number : 14 Question Id : 7196501614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Asrange the following in the ascending order of their numerical number.

A) The total number of peripheral fibrils in a centrosome

B) The total number of microtubules in an axoneme of cilium
) Number of arms in a telocentric chromosome

D) The number of nucleotides in a nucleosome

S0 PR VoGP &G T E Fovot WE k.

A) oS e JotdO HOLAK FHL Doy,

B) FO¥ 0O B850 Sothd dve Ay TP EL Doy,
©) RIS §ardFan Soll (0 ePIUrHL Dog.

D) 2.8 drgdOirven Joth Su SrgioirdGe owg.
Options :
C,A,B,D

1. ¢

ABD U

B.A D, C

C.A.D.B
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Choose the correct statement
A) All the elements present in a sample of earth crust are also present in a sample of

living tissue.

B) Oils have higher melting pomnts (gingelly oil) and hence remain as oils in winter.

) Proteins act as receptors in various organs.

D) Cellulose, abrin are secondary metabolites which are useful as polymeric
substances.

DO P gar g (1QouEsD.

A) aIrDLLS &l SFOFO Jedd Seeruo JedFTrS PG ofodron.

B) SPIL ¥y & GHASS Py O (D3 PSS 3L SPIL P Botrown.
C) D 208 ©orPO )P Eor Sgdrowron.

D) JgdEl, wRe oL &5630& gSfOird e e FOMOS  Dorgranr

GRCIFEDEITToN.

Options :

A. Conly
- A, C Srghdo

B. D only
L B. D &g

A, B only
. A, B Srghdo

C. D only
L C.D srgd

Question Number : 16 Question Id : 7196501616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Meiosis 1s characterized by which of the following?

&2 Sol EIS” R o OECE eSS (oS IN0?



Options :

Two nuclear divisions and chromosomes dividing twice

So68) S0l Dafezaien SB05N Tetardd §ardfeane) Dafesen

Two nuclear divisions with chromosomes dividing one time

Soled 3ot Defadued” aird §arvae fafessd

Two nuclear divisions with chromosomes dividing four times

Sl Sogdf Rafeedeed”, SRS oV eV §rVane aTeeSLn

One nuclear division with chromosome dividing one time

2v¥ 3008 DelRdes” wiwd §arelen Latesd

Question Number : 17 Question Id : 7196501617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Conjoint, open and endarch type of vascular bundles are common in which of the

following?

RoOINE, D5y SO0IN ©otTHENEIONE TPPSR0ER L JEIT FPEPURrP a)obron?

Options :

Dicot root

& 566@9’63% 5o
1. %

Monocot root
. ST 36

Dicot stem

& 565@9’3583 PoCesdad
3¢
Monocot stem
. D5 edes SPotiasn

Question Number : 18 Question Id : 7196501618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question



Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Secondary phloem is produced more than secondary xylem and forms a

compact mass in dicot stem.

Reason (R) : The cambium is generally more active on the mmner side than outer side.

Q3 Y50 (A) 1 S EFedes FolSns’ HIBCH wdlad) §o°) HIBOD FFQELRePLS0 )50y SF
108008 SOOI WP Goth) 506 Sold BTIPLY oI YiEeaw.

0w (R) @ Farduor Qereglierdd Sobiud Jwdd % OO JHH D)L
INJTAVLTAR

The correct option among the following is

& S0l DRYFOT DOGRSG

Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A).

(A) 500003, (R) 000086 6050 (A) % (R) $8 a8,

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A).

(A) 2020WI&, (R) 20200038 522 (A) %0 (R) 208 2806 760,

(A) 1s true but (R) 1s false.
(A) D00WSE 3 (R) 0000038 0.

3. %
(A) 1s false but (R) 1s true.

(A) J00NI& W 3 (R) LOCWSE.
4. &
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Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Identify the plants respectively based on the characters.

I)
1))
I1I)
A%
A)
D)

Roots fixed with mud with long petiole.

Lives partly in water and partly in air.

Annual, found in dry zones, complete its life cycle within short period.
Root hairs and caps are well developed.

Tvpha B) Tribulus C) Casuarina
Victoria regia E) Hydrilla

OEEFQ S@e0erP ST 3008 L) (WoulSN.

I)
1)
I17)

V)
A)
D)

I S350 0 YDET PHBD, FUIS DBS yorww FOID.

PR P IS ISP, PR EorP TPONSrP sSRTFoN.

¥ FOT, HQy, FoTrOS ONVTPON. D SF) S PLS WIS VTR,
S0NovLRetrow.

SAPLSTLL, ST LD 8PP RS HE Doled)etrow.

&Ia B) davgewn C)  s=ovr

25" 0ale basale E) T

The correct match 1s

DO
Options :
I II III vV
. D A B C
I II II1 IV
E C B A
2. &
I II III 1Y
A 5 B C
3. &
I II [1I v
B C A D



Question Number : 20 Question Id : 7196501620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following lists:

ListI ListIT
A) To produce 180 gr. of glucose I) 1.63 gr. of CO-
B) Flood protection by plants is II) Supporting services
covered under
C) 1 gr. dry organic matter can fix III) Regulating services

D) Soil formation and crop pollination IV) 677.2 Kcal energy is

is covered under consumed

s Sold Kg@éu& 2289 00WNess:

D81 L |
A) 180 p. grs*S S0ir0S I) 1.63 or. CO»
B) Qo 06w darde ) e Yrdgd vdew

O 1r. 6 0f0D Jwerdo FROSK0 I1I) QA oErdy & D
D) S0ye% RS NEER, Dordedy s IV)  677.2 K sudo 38 00a3rco

The correct match 1s

OGS 235
Options :

A B c D
v III I II

1.V
A B i D
- IV I II II1
A B C D
s % I 11 IV I

IT III I 1%



Question Number : 21 Question Id : 7196501621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct definitions for the following respectively.

I) Porins 1I) Solute potential

III)  Apoplast IV)  Scotoactive stomata

A) open during night and remain closed during day time.

B) lowering of potential due to dissolution of solute.

) proteins from huge pores in the outer membrane of some bacteria.

D) system of adjacent cell walls that 1s continuous throughout plant body.

808 D8 VOGS ABFWIIINOW DB FEI 0" BI0euE.
) 68w M) grad 45w
)  e¥rd IV) e85 HeBomran
A) D0 TSR el DBt
B) @moerd) St 56 #5)10 SHdu Srin.
) §'Q), er§O0IrT FnDO Bded” L HOLIE Sogren (o .

D) 208 BiTPo Qote® V&) DI P BN VHS) Sl WVD Y5 o F 29000 B350,

Options :
I II I 1Y
. B A € D
I II II W
A B D ik
2. %
I II I IV
- C B D A
3. ¢
1 II I IV
c D A B



Question Number : 22 Question Id : 7196501622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The following are the host plants along with the microorganisms which fix atmospheric
nitrogen. Find out their correct match.

L Frankia — Alnus

II. Rhizobium — Alfalfa

III.  Anabaena — Wheat

IV.  Rhodospirillum — Casuarina

L Fosalr — o)

IT. 5272000aD — weryory
I eo2dor— (TN

IV. J0&D0wad — soador

Options :

I and II only

I 5000w IT oeesdo

1LV
I and III only

- I 00asw IIT Soeggan
IT and IIT only

\ IT 5605w III 2eesad
II and IV only

. IT Svdcin IV Srgidy

Question Number : 23 Question Id : 7196501623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Match the following lists:
List-I

oSN w

Isomerases
Ligases

Lyases

Oxidoreductases

&2 S0l 2T U 2389500003

o0 B

The correct match 1s

DOTNS w8
Options :
A
1. & v
A
11
2. &
.n'.%
IV
3.
A
vV

4. ®

ereoze-1

SrP&ow

DB

Y

11T

111

WS EOUEBOW

VBB

11

IT

II

List-II
Linking 2 compounds
Removes groups from substrates
Interconversion of 1somers
Dehydrogenation

Oxidation

erzoee-11
Cola) 00 TP Sos)-
&

Bes

QDTG0 ok (P 5T LMoV
2V e0R ©oBTirrdyy WOk
@33_"(3?526:3‘5}{5 \50'5
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Question Number : 24 Question Id : 7196501624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following lists:

ListI List IT List IIT
A) Antenna 1) No ATP or NADPH I PSI
synthesis
B) Reaction centre 11)  Algal photosynthesis II)  Release of CO;
C) Radioactive **C i) Absorb different 1 LHC

wavelength of light

D) Wasteful process 1v) Chlorophyll @ absorption IV) 3 Carbon organic

acid
& 00 ePIT LN 2D,
a0 | sreuee 1 sreoee 111
A)  ©oddTey 1) ATP S NADPH ode D PSI
BIAV
B) Sorg Selsin 1) 3doro §0ema8goadrtisol ) Co, 20
C) SCamrduid ad) 1) 08 Sl B ) LHC
MC 56ySsw §°80u0
D) Q800ariges ) §TOS adQeo IV)  3-5838 oo
wdg &I300
The correct match 1s
SToloR VN T
Options :
A B e D

u, I 1w, I i, IV 1, 1I

1. ¥
A B e D
11, I11 it 1 1, IV v, 11



8 | u, I 1w, 11 i, IV

4. %

Question Number : 25 Question Id : 7196501625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct statements.
A. The mesophyll and bundle sheath cells of leaves i C4 plants lack RUBISCO.
B. Cyclic phosphorylation is additional source of ATP required for chloroplast activity.
C. Dark reaction of photosynthesis is also light dependent.
D. Engelmann observed PS under split light conditions.
E.

Water evolving complex is associated with PS II towards outer side of membrane.

PO T°gare g (1300w,

A Cy 308 SHOE DTS Srrwn 005N ozses™ath Serud” RUBISCO 6odidh.

B. 0% Srwahv s0gErarus ol Fdoie ATPOR JE0seS I )000m sruas.
C. QP g 5t o il @wdhG aotrow.

D. 2oidee IOE wod LEmre wryoe §668g0ooirtiSoiD (adewdD.

E. 965 23358 Do, PS 1L &8° o JuHo Jmr SP6 aotwod.

Options :

A. B, C only
A, B.C g

B. C.E only
B, C. E Srege

2. %

A, C.D only
A C.D é?@&io



B. C, D only
B, C, D Srg

4.

Question Number : 26 Question Id : 7196501626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arrange the following sequences in order of their activity in the electron transport system

of oxidative phosphorylation.

A) Cytochrome C transfer e between complex III and complex IV.

B) Ubiquinone 1s oxidised to reach electrons to cytochrome bei complex.

C) Oxidation of NADH at complex I, electrons are transferred to ubiquinone.

D) Complex IV refers to copper containing cytochromes.

E) Cytochrome c 1s attached at outer surface of inner membrane of mitochondria and

recetves the e~ from cytochrome be;.

QS RS P wErdorr w8yEln Fr)OORS Joi Ju JuFe Garmr S3St S0 O
WU et 00 esiodu e,
A) S0 C Dofnain L IV © iy 260 DOsrim Sarer wel.
B)  oopagid RETES bey Dodirod BUyErs CXnmE LSS esdyisn Botiied.
C) Dofedn I 3 NADH es8y¥0e Dol, @Ugjgj QwedSgs® K 20hO wHTrow.
D) %0850 IV o0l 5566 LO8 pEESe.
E) FolS aroGOl SO0 Blo JLUDUT VETE R ¢ 0B VTS W ber Dod
e D fJarouwidd.

Options :
&, B, C,E, D
1. ®
. CBEAD
2.
C.B. D.AE
3. &
A.B.DEC
4. %

Question Number : 27 Question Id : 7196501627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Assertion (A) : In muscle cells, when O; is inadequate for cellular respiration, lactic acid

1s produced. In yeast, pyruvic acid 1s converted to CO; and ethanol.
Reason (R) : Yeast cells will die by the concentration of 13% of alcohol.

QBYBA0 (A) 1 Fodll S Same g 80H wbyze S0S oS e s SNV ByTe! G,

4

0 2005 wao, CO; HOCIN ET S G yeokotook.

¢
su"
UX
&
o
um

sdasn (R) 1 &9 Srod s mEd 13 wdo BSOS v Sdedirow.

The correct option among the following 1s

&t S0l DRYFOS VOISR

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) D0eonSs, (R) 20@0nsd 60N (A) % (R) D8 a8,

1. &
(A) 1s true, (R) 1s true but (R) is not the correct explanation of (A)
(A) J0oI&, (R) S000nId 50 (A) R (R) 108 2508 soi.
2.
(A) 1s true but (R) 1s false
g (A) DOoI& =0 (R) 0OL0WIE 0.
(A) 1s false but (R) 1s true
(A) DowowI& & 5 (R) DOowIk.
4. ®

Question Number : 28 Question Id : 7196501628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The most commonly found natural auxin among the plants is:

S8 Hols OBV WSy
Options :

24-D

1. ®



TAA

2. ¢
Kinetin
TS
3. ®
NAA
4. %

Question Number : 29 Question Id : 7196501629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the list-I with disease causing taxa in list-II:

List-1 List-1I
A) Typhoid I Treponema
B) Syphilis II) Clostridium
C) Botulism )  Salmonella
D) Tuberculosis IV)  Mycobacterium

V) Neisseria

DT & 68y T30, HEETT 5 &), 30 VoESots &rseyes’ BBHSIoG.

ed8-1 OEE-II
A)  Garoné I) Sredale
B) 229 II) Sevgcealo
C) asadw?g@aafw I1I) ;)%5“; J‘gﬂ
D) 6&352-3550556 =6 V) -jﬁ_-__l'-)éﬂg SJ“’g@Qi)G
V) DDyoaD
The correct match 1s
OO 228
Options :
A B & D
11 Vv IAY II

1. %



, e 1 I II v
A B C D
III 1A I1 v
3.8
A B C D
o I I I 1A%

Question Number : 30 Question Id : 7196501630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct words (A, B. C. D) related to the given sentences below:
— The phage tail fibres attachment to bacterial wall
— Condition which remain in the host without any disease symptoms
— In TMV protein subunit is of a single polypeptide with 158 amino acids
— Mad cow disease causing organisms may reach man through beaf and cause
Creutzfeldt - Jakob disease
A) Prion B) Capsomere C) Latent infection

D) Complementary receptor sites

S0l argaregBy D00 Dwrw (A, B, C, D) S8 (0ouiodn.

— aPe &5°E e erSO0IT Eduion) @old DS D

— 7l 5708 3 SR0W F08c OUF U0 afolar 7 ge W) L0 WPDSG® &ols VS

— TMV Solio 0 Fedn &00687eea80 158 0o’ ealyrwn §OS 2.8 ol rIG

— PG T g Koot W 85D i aiIeio @UYTR SR WO BT I DY-wrER Trgh
Fotd Dol

A) o8 B)  s¥y006 C)  H0g Doddeasn

D)  QoRrdf (iard rarw

Options :

A8 G0
®



B,C. DA

2. %
- P.E.B.A

3.9
D.B.AC

4. %

Question Number : 31 Question Id : 7196501631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Choose the correct statements.
A. A single gene may be related to more than one character is called pleiotropy.
B. A non-functional allele can be considered as dominant allele when an unmodified gene
1s called recessive trait.

C. Genes which code for a pair of contrasting traits are known as alleles.

=

Sahiwal cows of Punjab are the example for selection.

RSNV EVIISIN g Vel IRV

2 280509 BEEIToEd )30y & LETFELLS” Dotolio 5O aotitrr) 20TVF RS ot .

B. &0y Wolid 23:iged) @oB0S L&tiolP ahotdanie SOI Jardd Qi) L¥u W eirdd
QU5 SEL O ZPDoudsiudy.

C. 2¥ B0l H3B08 LEFPUD WY B Gl LEr Yy elrd.

5

D. %022°e5¢5°D WPerarS (FadHen ododé Surdoy awrdrdes.

Options :
A.B.Conly
_ AB,Cargd
1.
B. C,D only
B, C, D sra
2. &
A.C.Donly
A, C.D a»ad



A.B.D only
A, B, D s»a

4. %

Question Number : 32 Question Id : 7196501632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Identify the genetic combination of the progeny, if a hybrid pea plant with round and yellow

seeds 1s crossed with a pea plant having wrinkled, yellow homozygous seeds.

05 (VR LGTTLEL Lo80 2087 B0¥) 0 SRS HE, DR Ll z vitrw Su
20@°Q ¥y &8° Do¥lo 20N bi’)g{‘,’w 23y 0520 (oW,
Options :

Rryy, RrYy, mYy 1mryy

-

1. ®

RrYy, RRyy, rmryy. 1Yy
2. ®

RRYy RKryy, XYY, mYy
3.8

RrtYY, RrYy, mwYY, Yy
4.9

Question Number : 33 Question Id : 7196501633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : DNA being more stable so it is preferred for storage of genetic information,
RNA i1s better for the transfer of genetic information.
Reason (R) : RNA can directly code for protein synthesis and expresses the characters

easily. But DNA i1s dependent on RNA for protein synthesis.

DB)BS0 (A) : DNAS 065 &850 SO0 Gatidio 9 W& 22g0SIwrdo QL WOLES D,
RNA 2:0g:0800wrd orarers” Soloinda.

sCasn (R) : RNA J0rr FE3 DogResn DoROudr oferod  oafor
380G, 2O DNA P83 oo RNA p 6grdds Hoto.

The correct option among the following 1s
& S0l WO VOQISE
Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) DOonI&, (R) Soowdt SHOain (A) S (R) 008 asde.

1LV
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
,w (A)D0wondl, (R) R0wonda 527 (A) S0 (R) 20 Da50es .
(A) 1s true but (R) 1s false
(A) JoLowsdk =R (R) Lbvowst o,
3. %
(A) 1s false but (R) is true
. (A) 20woIs = 2 (R) Jo6wondék.
4.

Question Number : 34 Question Id : 7196501634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



QOIS 23
Options :
A B
I I
1.¢
A B
II I
2. &
A B
AP | S AY
A B
I Vv

4.

Match the following lists.

o 0w p

List-1

Tumor inducing plasmid

Artificial plasmid
Amplification of DNA

RNA dependent DNA polymerase

Tal Solo é§§u® 2329 00WN0s:

A

The correct match 1s

55T

g0 Goliaglol) QPR G

5‘@@053 %Dw&(i

DNA 246806

RNA «5r6¢ DNA rd00e68

III

I

II

List-II
L PCR
II.  Agrobacterium tumefaciens
III. PUC 101
IV. Reverse transcriptase
V.  Ethidium bromide
0eds-II
PCR
& 22560 0a dvzg-aﬂ}a?}éaﬂéd
PUC 101

656y ErDaDS

[
AREOD 25 DE



Question Number : 35 Question Id : 7196501635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If the template strand of DNA 1s 3' ATGCATGCATGCATGC 5', identify the sequence
of RNA transcribed.

DNASQ ordnwdldn 3' ATGCATGCATGCATGC 5' ©0000d5S, e9:008:85:50 Wods RNAD
("x)@ofﬁo&.

Options :
3' UACGUACGUAGCUAGC 5
5' UACGUACGUACGUACG 3

5' AUGCAUGCAUGCAUGC o'

3' AUGCAGCAUGCAUGCG S

Question Number : 36 Question Id : 7196501636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Arrange the processes of recombination DNA technology 1n a sequence.
A) Fragmentation of DNA

B) Transfer of rDNA to host

C) Isolation of desired DNA fragment

D) Isolation of DNA

E) Culturing of host cells and extraction

F) Ligation of DNA into vector

28z 03003238 DNA o3 95 HI0DUS SE00E808" 08y
A)  DNA moGero 6 6o

B) Qayodiresd IDNA & od3downs whd Wokes

C) oS00 DNA 2omed) 998 S05WE

D) DNAS S 3ci0é

E) SR TRR WA STV O ERVISTeVVIETHPRo AW e VNEY

F) oS8 DNA o) 236500,

Options :
D.E,C A BF
l.
) A ILE. CB. P
., D.ACEBE
DA BECEE
4. %

Question Number : 37 Question Id : 7196501637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the correct statements.

A) If any protein encoding gene is expressed in a heterologous host then it 1s called
recombinant protein.

B) With the presence of insertional inactivation of the p—galactosidase, the colonies
do not produce any colony is called recombinant colonies.

C) The origin of replication sequence act as closing site.

D) Palindromic nucleotide sequence of DNA 1s identified by exonucleases.

X0 3PS IS,

A)  DPer FES SOUPEDON 23556 DROD B SBHow TeJoT A0LBeetd
B0 WPAD Wi odiress JFedo @obrdh.

B) FowACL DNA woGioed” P — rrostes Qi 9adinedy 530 Qardfen ) Gotio WrH
PO Qs )eddress el en Wotrd.

C) POEHD BUT®ded Wold SAVTREW B00aS Fre), APDol.

D) I8 \Irgdcihdo wryor ardogen SrgdairedG SO0 Fairen (dodeadiaron.

Options :
C,D only

. C.Dargd
A.D only
A. D &Srghad

2. % !
B, C only

- B. C &g
A, B only
A, B 3¢5

4y ~

Question Number : 38 Question Id : 7196501638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the incorrect statements among the following:

A) Genetically modified crops have less tolerance to abiotic stress like heat and
drought.

B) The proteins encoded by the genes Cry I Ac. and Cry IT Ab control cotton
bollworm. while Cry I Ab control corn stem borer.

C) RNA T takes place in all organisms as a method of cellular defence.

D) Hereditary diseases can be treated through gene therapy.

S0l AT JOFR P (08U,

A) 2308 ITP0 )G W0EIBNE) L0 BEESICLITFUONS &Ro, BTPDYNA BBV &
€SS 0etrow.

B) 22dged) Cry T Ac 206030 Cry I Ab J8°G wegoe S)O’QE; Fedd PSS'D 8589_’5.;?5&(63,
Cry [ Ab e0038 08y 83" SPotio &57OW Q08 A0DeSock.

&) Q) e RNA I & 98G5 aarSore ssdutiocdood.

D) 22805 5Dy o U° WDL0BE I°glRUEL WIS YHONSW)Y.

Options :
A, C only
A CIrgd
1. ¢
A, B only
L w A, B Srg
B. D only
-
- B, D JSrdd
C.D only
8 C. D g

Question Number : 39 Question Id : 7196501639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Evaluation of new selected lines in breeding is first tested in ideal
conditions 1n research field and later in several locations in farmers’

fields.
Reason (R) : As limited land 1s available for cultivation, mcrease i yield per unit area

1s a challenge. This led to the green revolution.

QBBAW (A) : §Y EIrod 2306 §EH KOG HOILUS S0oorr HOFES Egrus
SATS DAE DATL &L Foros DOLTFN.
wlasw (R) @ 3800 870 2iran Srrged wih%) eolierrians” Gotiats S0 ClrdE ertied’

&SV Voo wl Ve, b P0G e:.)?’,gaﬁf?)é OB H.

The correct option among the following is

& S0l DWYFTOS DOGLSE

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) $600ws8, (R) Somanse o0k (A) £ (R) 238 980,

1. %
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)

2 (A) JoowsE, (R) Dowowdd 2 (A) % (R) 008 2806 .
(A) 1s true but (R) 1s false

s (A) J6oWIE A (R) DEowSE 50D,
(A) 1s false but (R) 1s true

. (A) J6oNI& W 3 (R) DOowS6.
4.

Question Number : 40 Question Id : 7196501640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following organisms are used as biocontrol agents?

285 QCKEEs METEILIP o) 2P FESE?



Options :
Bacillus thuringiensis and Escherichia coli

er)%)ns) @@o&fﬂﬁr{?\)nﬁ & ck)éb Oayale SO

1. &

Bacillus thuringiensis and Candida utilis

2P0 002300y & 5Polet® AWEIID
2. &

Bacillus thuringiensis and Irichoderma

8O0 G002 VDyw & S @07y
3 [ L

Azospirillum and Rhizobium

@250y 190l & T272)aad
4% “ =

Zoology

Section Id : 71965033
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 71965033
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7196501641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

While defining species the concept of ‘Mendalian population’ was mtroduced by

EE ) 365&0650(:’1353 oGO0 2T 90 SO @éébgo&.

Options :
Linnaeus
D3\ o

1% Al
Button
m@%

2. %



Jhon Ray

" 2 O
Dobzhansky
Cieg’ﬁé’ozr

4.V

Question Number : 42 Question Id : 7196501642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : Cladistic classification is an evolutionary classification based on
how a commeon ancestry was shared.
Reason (R) : It summarizes the genetic distances between all species in the

phylogenetic tree.

BBo (A) 1 &yl dedarloaso AL 2ajen aler ﬁoxﬁ)é&?&tﬁ? 2 DOl

el (R) : S8 S080ae rdou abdg (o salg oS0 i) S8 odlo T 5o Te

The correct option among the following is

& Sold a.:hgs'*e_:sj’; OIS

Options :

Both A and R are true. R 1s correct explanation for A

A 208030 R Davo. A 8 R 280 DOHGe2

1. ®
Both A and R are true. R 1s not correct explanation for A
A 208030 R Dzzo. A § R DB D62 5°¢0
2.
A 1s true. But R is false
- A Dzo. 570 R Dazo 57¢0
A 1s false. But R 1s true
A D20 =2, 320 R Dao
4. %

Question Number : 43 Question Id : 7196501643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Heparin is secreted by

SPPOR N
Options :
Plasma cells

PPy BEPe
L&
Adipocytes
QG
2. % .
Macrophages
PL BIEE Seen
3%
Mast cells
PR Ko
4. ¢ -

Question Number : 44 Question Id : 7196501644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : Vertebrates are deuterostomes

Reason (R) : In these animals blastopore becomes mouth

D3 o (A) : BT OIOTI 0w
5680 (R) | & 20e0065° Da Sogo ST ArcIched

The correct option among the following is

&1 5ol 0YFOE HOALIL

Options :
Both A and R are true. R is correct explanation for A

A 208030 R Dzzo. A $ R 238 ddSe

Both A and R are true. R is not correct explanation for A

A 208030 R Ddzzo. A 8 R 28 DdHSea s°¢.



A 1s true. But R 1s false

A Dzo. 570 R o 5°¢d

A 1s false. But R i1s true

A Dao 5°D. 570 R Q2o
4, %

Question Number : 45 Question Id : 7196501645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following:

Mollusc Class
A Doris L Pelecypoda
B. Architeuthis IL Gastropoda
£ Pinctada T1L Scaphopoda
D. Dentalium IV. Apoda
V. Cephalopoda
S0 TPEIQ 28 DENels:
&.ue.acfazy Pale o™
A o] I OO B
B. &8 Galuredo IL. P9I
. H Qo5 I11. DR iy
D. Godrealo v Ve
V. DOSFTE

The correct match 1s

OGS

Options :
A B B D
R Vv 1T
1. ¢
A B C D
III I Vv II



7 Vv III I
3. %
A B { D
IT v I I
4. %

Question Number : 46 Question Id : 7196501646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Study the following statements:

L Sponges are considered as an evolutionary blind offshoot.
1. In anthozoans, germ cells are derived from ectoderm.
1L Primary function of flame cells of tflatworms is osmoregulation.

IV.  Body cavity of nematodes contain botryoidal tissue.

506 @D eg0inde WOl

L 2335 0T 01028 ¥ ol TP DO 2iEPow

L odefelsus wds Smrun erirgdyte ol adSykePon

ML ey HDY HEBALOS eger Srw PGS 6 Kaee) e S
IV. Q0G0 Bdr 5olrdoes” eS'Eoironts $eese &otiol

Among the above, the correct statements are:

2 7¢3eS" DBOWAS WoFe)

Options :

ILLIT

1. % ’

I I

2.¢¥

I, IV

3. %

I, IV
4.%

Question Number : 47 Question Id : 7196501647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following

List-1 List - II
A) Vascular cloacal wall 1) Squamata
B) Thecodont dentition 1I) Chelonia
C) Living fossil III)  Crocodilia
D) Jacobson’s organ IV)  Sphenodon

V) Cotylosauria

Sold aPCIR) 25 DGWk:
S8%-1 S6%~11
A)  HOSEIOSBZS €35 & Sotégo ) e geer
B) &8GR0l (ot dRego M) &SR8
C) %eiss aereso ) §$E6Oasr
D) 2508 ©s0kse IV)  Qyfew

V)  SOSFousr

The correct match 1s

DO 2
Options :
A B C D
II III I V
1. %
A B C D
- II I IV 1
2.
A B C D
e I I I1I \
A B { D
II N IV 1II
4. ®

Question Number : 48 Question Id : 7196501648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Match the following

Group
A) Pisces
B) Reptilia
C) Aves
D) Mammalia

8old a°E3 BBDGWGs
N T®I°0
A) BT ye
B)  280ydren
C) Do
D) Looren

The correct match 1s

OGS 2
Options :

A B
IV II

1. ¢
A B
I A%

2. &
A B
III IT

3. %
A B
1AY \%

4.%

\;‘T

Types of vertebrae
I) Amphiplatyon
) Procoelous
II)  Opisthocoelous
IV)  Amphicoelous

V) Heterocoelous

S0 6o
I) 2305 DB
IT) o) lofate,
o) 5668
IV)  ezion 60
V) D0 648



Question Number : 49 Question Id : 7196501649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Assertion (A) : The bending movements of a flagellum 1s brought about by shding
of microtubules.
Reason (R) :  The dynein arms of each doublet attach to an adjacent doublet and

pull the neighbouring doublet

BYBo (A) 1 EEEado ot Do DrEy TrREL sEle SS9 238l
8w (R) @ oo Q) o09% Glng) G e0%Teden D8 ey aluy OrEy
TPLEOR WG Gl PR M

The correct option among the following is

&1 $old YOS DOGIH

Options :
Both A and R are true. R is correct explanation for A

A 208030 R Dazo. A $ R 28 5863

1.V
Both A and R are true. R is not correct explanation for A
A 208030 R Dao. A 8 R 280 D566 5°¢0
2. %
A 1s true. But R 1s false
. A Dazo. 570 R dazo 57
3.
A 1s false. But R 1s true
. A Qo 5°¢D. 570 R Ao
4.

Question Number : 50 Question Id : 7196501650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following :

Protozoan
A) Astasia
B) Polvtoma
C) Chilomonas
D) Monas

S0l TP BWHDGNEs :

FPETE SR

A)  e2aD
&

B) 5
C) FeSarand
D) aroew

The correct match 1s

2OGDES 2369
Options :
A
II
1. %
A
Vv
2.
A
II

B C
111 V
B G
III I
B C
I 1Y

Type of flagellum
I Pantonematic
1I) Stichonematic
11I) Acronematic

V) Anematic

V) Pantachronematic

e S8
I FotS ArOS
1) g?:)muesé
III) OEJA7ES
IV) a8
V)  Jrotr§ Dares



IT IV III I

Question Number : 51 Question Id : 7196501651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following:

Type of Parasite Example
A) Cytozoic I) Ascaris
B) Histozoic 10) Pediculus
C) Coelozoic )  Plasmodium
D) Ectoparasite IV)  Cancer
V) Wuchereria

S08) TP RSHDGR0E.

‘tbo‘a‘)lé:) G8o &80
A)  deroctd D €59 65
[
B) <Znero 1I) DsHed
O) s D) 203 dato

D) BRI DT°) S IV) 5736
V)  gsdbarr

The correct match 1s

TS 228

Options :
A B C D
1I I V III
1. %
A B i D
11 v | I

2. &



o 10 v I II
3.¢
A B E D
1Y II 11 I
4. ®

Question Number : 52 Question Id : 7196501652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arrange the following stages m a sequence of their occurrence m the life cycle of
Plasmodium.

L Anisogamy

1. Flagellated body

I1I. Microgametocyte

IV.  Exflagellation

FAEAT0 HDS SO €5 aI5NG Sobd IV SED §00eS @S5S Y06 -
L e Bedirto
L. &8 &

I &) O 2 Sy

IV.  &oes a8 Sde

Options :
- OLI, IV, I
1.
L« DLILLIV
LI 1L IV
3. %

INGILIL T

Question Number : 53 Question Id : 7196501653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Statement I: Heroin interferes with the transport of neurotransmitter, dopamine.

Statement II: Excessive dosage of cocaine cause hallucinations.

DRI © CDHDHO O3 T WET L™K SIS’ IPTPONR & Ego WS ollel

DAFUS I : §8Q O IPTPELD gRedds PEESHTPON.

The correct option among the following is

&8 S0l DDYFOS” HOGID

Options :

Statements I and II are true.

28 PSS T, TT 5950

1. W

Statements I and IT are false.

263 eSS I, I 00580 5°al)
2.8 M~ =

Statement I is true. But 1T is false.

DBPOI T DOIB, 20 Qéa‘ﬁéﬁ IT 0036 50
3.V

Statement I is false. But IT is true.

SIS AR RS INIARIAVR- é_@éﬁéé IT 5056
4. %

Question Number : 54 Question Id : 7196501654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following opens at the base of the hypopharynx mn cockroach?

&5 Q0% ¢ D LB gt BERHEIA.
Options :
Efferent salivary duct

BODTPEr PR Yo

Median salivary duct

NVAIES LS %o



Common receptacular duct

08y ererF0% %o

Common salivary duct

5355 PR30 Yo

Question Number : 55 Question Id : 7196501655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following related to cockroach

List-1 List-2
A) Pronotum I) Nervures
B) Tarsus 1) Intima
C) Wings II)  Tergum of thorax
D) Trachea IV)  Ligula

V) Plantulae

33"@05(@ oo Sl eI Gl

S$8% -1 S8% - 2
A) rdg DyRse I) SVITISOY
B) érdy® II) RO
C) o5 M) HEo s DY Hoo
D) aroluareen IV) Othger
V) gsS

The correct match is
DO 23¢9

Options :

A B & D



111 Vv I II
2.

A B C D

II I Vv II1
3. %

A B C D

v I I 111
4. 8

Question Number : 56 Question Id : 7196501656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Find out the pseudopenis in the above diagram.

a—

2 Do’ Te§ Py ool

Options :



1. ®

2.V B
3. % ¢
4.8 .

Question Number : 57 Question Id : 7196501657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The statement which says that the two closely related species competing for the same
resource cannot coexist indefinitely is called
Bolh &85 Doavotio tie) 25 eehen a8 BERS SStHus ) Do 3¢ ©OBYBorP Vo
WOHSSD BOBE

Options :

van’t Hoff rule

T2ot) % Do

1%
Gause’s principle
TR S0
2.
Allen’s rule
D)@E.):’ D03e
3. %
Bergman'’s rule
ﬁ(é:iij"e% Q0300
4 %

Question Number : 58 Question Id : 7196501658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Study the following and pick up the correct statements:

I) Mammals and other warm blooded animals living in colder regions have less
surface area to body volume ratio.

1) Mammals in colder climate have larger ear lobes and longer limbs

IOI)  Forevery 10 °C increases in temperature, the rate of metabolic activities double

V)  During transfer of energy from one trophic level to the next. there is no loss of

energy.

$08 0T GO0 B VTD T WBooC.

1§ 00 oo Eomren, Q90 ?38:‘.&@%@@6‘5 B eDdow DTS B
DOOFEEIS DayB BE) DT &otwod.

) 300 Foo S0mree’ DG D Sdyew, TFEDD AT Sotrow,

III) & 10°C eg"g@ DOMER D& BDS0Ir0E) DY) DB,

IV) &8 90 Q‘“m} EbToTotlla:To Foits N e 1=t gvcmé 33 DO0ER 2OMLDE 35 Ao

lelalab]

Options :

IL IV
1. ®

I. III
2 ¥

IT, ITI
3.

IIL IV

Question Number : 59 Question Id : 7196501659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Study the followmg statements and pick up the incorrect one.

508 8907 BE30Ne WA D05 @R, 0Qovdele.
Options :
Increase of green house gases in the atmosphere results in the increase of sea levels.

0 HY® TPOSNHL FPOWN TPEPSSEIS B0 58 DeS0¢880 DB,

1. ®



Increase 1n the concentration of a pollutant at successive trophic levels mn aquatic
food chain 1s called biomagnification.

DD WHFEY) TS sPendglo MR 2u¥ A0S PO Sok STPIS FHE Pows HKLEP
SrSTRR), 88ad @aSdndo @olFly.

Enrichment of water bodies with nutrients is called eutrophication.

QA" TS DTPTPL oW HONTSEEA) P SRR Bolr .

3. ®

The slogan “think globally and act locally” was given at Montreal protocol.
“TEREP @S Dodels, %"@goﬁ" f\@;’c&oxﬁo&“ O3 LX) oﬁ)—“o@(ﬁ)é DSIEeeS
B5eeold.

Question Number : 60 Question Id : 7196501660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statement [: Enterogastrone secreted by the epithelium of stomach inhibits the
gastric secretion.
Statement II: Enterocrmin secreted by the epithelinm of duodenum stimulates the

secretions of succus entericus.

DOFSIT: 2IaD S8 Qo0& PG oldTTRIIS 268 FIEBDH KE G0
DAPES II: &0 Sare GDSY Aol Pdovinte cdotdETIND DER ollOED PP

B%00.

e

The correct option among the following is
&8 500 DOYTOS” HOGVSE
Options :
Statements I and II are true.

DAFSS T, T $332.

[ %

Statements I and II are false.

VPGS 1, IT 0830 5°9)



Statement I 1s true. But I1 1s false.

DAFES T 29HB, T PAIES TT KIS e

Statement I 1s false. But I1 1s true.

SOFES T RPHO T, 52D HEFES T 5956

Question Number : 61 Question Id : 7196501661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statement I : The amount of CO; that can diffuse through the membrane. per unit

difference n the partial pressure, 1s much higher than that of O>.

Statement II : The solubility of CO>1s 20 to 25 times higher than that of O

DOPEST 1 a8 PEE HES Hm gi50es” FOI D COz S0 oo 8yES
£al3 rer %o

SOPSIIL = COp TeIo Oy Graeioned Sotd 20 — 25 B 80y

The correct option among the following 1s
&t $ob DDYFOS DOQLIO

Options :

Both statements are correct

Oote) DBPOILT D0cded

1. ¢
Both statements are false

. Colld DBrPQILT 0D $°a))
Only statement I 1s correct
DSBS I rgdd DFHH

3. %
Only statement II 1s correct

. DBUS IT So°Bd DFHE
4,

Question Number : 62 Question Id : 7196501662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Study the following table and pick up the correct combinations.

SNo Clotting Name of the factor Function
factor
I XII Hageman factor Activates cascade reactions of

mirinsic pathway

I XIII Fibrm stabilising factor  Stabilises and strengthens the clot
I I Prothrombin Prevents clotting of blood
JAY I Fibrinogen Forms serum on the blood clot

5ol @ﬁ;ﬁ@urﬁ oFoLN) @Cﬁg(ﬁméo e 03 T Doad) e t00oWete.

3. Wo «n.)zycdf:oj ekt 520580 a0 el A)
I XII e S 52680 oSG TG ST
SDeNBIDR
1 X111 DD RDTEA TGS0  XpoiTe), REDED VOSSO
Il I FerodD 5 K0y o050, DT
v I FOTA IS 0¥ K300 3 6o D B0
Options :
LT
1.
II. III
2. %
3. %
L IV
4 %

Question Number : 63 Question Id : 7196501663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Follow the three column matching and find out the correct combination.

S.No List-1 List-2 List-3

I Ammonotelic Excretion of ammonia Energy conservation

I Ureotelic Excretion of urea Highest conservation of
water

I Uricotelic Excretion of uric acid Moderate conservation of
water

v Physiological Retention of urea in the Isotonocity

uremia blood

o,

308 oTrenl) @l s0iaSe B V«J:C_)&S w08 Doantindd (3 }JQG\SO&.

&, Qe SO -1 B85 -2 SO0 -3
I w30y SO BIFIAUT DG 48 HAriie Y
I olrddmreds OSrE0iT® 208 e (905 oy
I olurdsedos 08 sl 200 DeE3D §oed SG5 Bredoay
R ow Nl
v L Slslnle}) 8¥oe5’ Qoo Dedd e TPG
clurdasair Godlio
Options :
Only I and II
I, II sorshad
1. %
Only ITand IV
II, IV Soeghan
2. %
Only I and IIT
I, TIT sorehad
3. %
Only I and IV
LIV Sorgdo
4.

Question Number : 64 Question Id : 7196501664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The ear ossicle mallens is a modified

5@“{\.‘; olio oS Hrréilc &3 Braretsto



Options :

Quadrate
é@c&‘:o

1. %
Hyomandibular

, % OIS TATN SN
Sphenoid
DS SO

3 % > )
Articular
w0550

4. -

Question Number : 65 Question Id : 7196501665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : The conduction of nerve impulse follows all or none principle

Reason (R) : The action potential 1s formed to a threshold stimuli but does not form

a subthreshold stimuli

Do (A) 1 TEHTUD Dirdo QPO| T Ard) 0D WARBRVE.
576t (R) : BFS 900 Gof) S01rES) 0 D6 COB008 57 DTS S0l BL)D 206

e

&ot3 QO‘.&J"%‘Q&’O ﬁ}dbcicﬁ.).

The correct option among the following is
&8 Sold D)FOS" HOGSE

Options :

Both A and R are true. R 1s correct explanation for A

A S08030 R dzzo. A & R 282 Ddder

1.v

Both A and R are true. R is not correct explanation for A

A 08050 R Qazo. A § R 28R Dades 5°¢.

2.8



A 1s true. But R s false

A Q0. 570 R dzo 3¢

A 1s false. But R 1s true

A Qzo 5°¢0. 570 R 2o

4. %

Question Number : 66 Question Id : 7196501666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Pick up the mismatched pair from the following

8ol PE3eS” O™ 2289 J0020CER B t180Sols
Options :
Hypoparathyroidism — cretinism

PP TR0 — SEINEe

Hypothyroidism — myxedema

PART 0G0 — Q08T

2. %
Hypercortisolism — Cushing’s disease
. 00 QD0 — H0200 TPg6
N ¥
Hyperthyroidism — Exophthalmic goitre
i 06 poronGEe — TP § rowdd
4.

Question Number : 67 Question Id : 7196501667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Bursa fabricious in birds is a primary lvmphoid organ.
Reason (R) : Lymphoid stem cells become mature lvmphocytes (immune competent

cells) m 1t.

D3 o (A) 1 DE0S” oy FDVODD 28 FESS Dorond edaddo
576630 (R) : oaroné Hure Stren &e5° HOBA Bodd T DT ¢ 5";‘13% SEFe
AT OTPO

The correct option among the following 1s
S8 S0 QYO DOGHIE

Options :

Both A and R are true. R 1s correct explanation of A.

A 208030 R Dzo. A § R 285 DdG¢e2

1. ¢

Both A and R are true. R 1s not correct explanation of A.

A8030 R Dazo. A 8 R 28 Daddes 57

A 1s true but R 1s false.

A dzo. 570 R dzo 5°¢d

A 1s false but R 1s true.

A Do 3. 370 R davo

Question Number : 68 Question Id : 7196501668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Statement [ : Increased levels of glucose and amino acids circulate i the blood of
pregnant women

Statement II : Somatomamotropin secreted by placenta 1s antagonistic to msulin.

es

SrdST 1 B50)E8 QIO T%S GrS'e, WS ePL FOW WHETT Gollol.
SFSEST : 2o PI0D TS SPIT) EPDS aOS K SgBBLrP B
I

es

The correct option among the following 1s
€8 500 VTS HOGHIG
Options :
Both statements are correct

oty D PSP HBST

1. ¢

Both statements are false

Oolad 2B PEIT DI o)

2. &
Only statement I 1s correct
. DB I g DoHG
3.
Only statement II 1s correct
o DBPES IT 257G DJHE

Question Number : 69 Question Id : 7196501669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Amniocentesis 1s used for

SONES DOX O ATECEEd ISP
Options :

Detecting heart problems i embryo

20085’ 08 €5 e (OIS

Detecting brain development in embryo

Dotios"D EE DB WEoTIS

2.



Detecting genetical abnormalities in embryo

20¢0eS’D 20§eS" Fren MBotsTS

Detecting kidney defects in embryo
D00e3°D BurGoE S e 1Bt IS

Question Number : 70 Question Id : 7196501670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A pure long-winged, grey-bodied female fruit fly 1s crossed with a vestigial-winged,

black-bodied male fruit fly. The expected percentage of long-winged and grey-bodied

msects in Fi generation is
DG G578 Doldd Tréied) BF e, PGl ¢ e Su & P 2 (Dogs Sa9)eH @SN
0%y e, SR o S S Dogs Saded” Vo¥ltio I, Fi B0 & :Qo’gd &réed) OFpen,
20Gidh S8 ¥o SGL FPedo

¢

Options :

0%
1. #

50%
L. 50%

50

L. T5%

100%
4.9

Question Number : 71 Question Id : 7196501671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : According to Bridges, the Y’ chromosome is not important m sex
determuination m Drosophila

Reason (R) : ‘Y’ chromosome is required for male fertility

Be (4) 1 EIDer Dot ITonS” Y’ EArd’nd Fsvwg® O OGS

&.}.

Ty &
e (R) 1 S0 i DLbehadddeds Y §ared’sn edd0

The correct option among the following is

& Sob) DYTOS HOGLIH
Options :
Both A and R are true. R 1s correct explanation for A

A 208ain R Dxo. A 8 R 2088 D662

Both A and R are true. R is not correct explanation for A

A 208030 R Do, A 8§ R 28 D662 70

A 1s true. But R 1s false

A d2o. 520 R 2o 5°¢0

A 1s false. But R 1s true

. A Do 3°D. 32D R Dao
4.

Question Number : 72 Question Id : 7196501672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : X-linked recessive disorders are expressed more in males than the
females

Reason (R) : Males are hemizygous

Ao (A) @ X-0Trudl) wcddd edpthen Jd §om) oS Jin s Sg¥
@ohTow

wlae (R):  pludoen e aloliyzren

The correct option among the following is

& dod a.:)g&e.:-ef OCIISE

Options :

Both A and R are true. R is correct explanation for A

A 0803 R Dzzo. A & R 282 D6

Both A and R are true. R is not correct explanation for A

A 208030 R Qazo. A 8§ R 28 DdHe 5°¢.

2. &

A 1s true. But R 1s false

A Dzo. 570 R Qa0 5°¢D

3. %

A 1s false. But R is true

A Qo 5°¢t. 570 R Dzo

4. ®

Question Number : 73 Question Id : 7196501673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following

Blood group Antibody in plasma
A A L Anti A. Anti B
B. B IL. Absent
C. AB IIL. Ant1 B
D. O IV. Anti D
V.  AntiA
Sald oIPtd) BEHNGSeb
88 5o Sy ol HOBE
A. A I ol3 A otSB
B. B I Gt
. AB O e B
D. 0 IV. ot$ D
V. ot A

The correct match 1s

OGS 2385
Options :
A B C D
III X AY 1
1. .®
A B L D
[1I Vv II I
2.
A B C D
I II Vv [T
3. ®
A B C D
A% 111 I IT
4. %

Question Number : 74 Question Id : 7196501674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The hormone which suppresses the immune responses 1s

SETEE HB H3oBS0S SHATD PGS

Options :
Aldosterone
LLISPIGIS

1. # *
Cortisol
OFS

2 F
Progesterone
FBYO°

3. % -
Caleitonin
FONEIQ

4, %

Question Number : 75 Question Id : 7196501675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In Hardy Weinberg population 2pq represents:

PO D8 eSS 2pgq APl
Options :
Genotypic frequency of homozygous dominant individuals 1n a population

2e°eTPS D 050050022 0ar P ead) g G ArdEydge

1. ®
Genotypic frequency of heterozygous individuals m a population
BTPES D DX 0% Bade g G Yo
2. ¢
Genotypic frequency of recessive mdividuals in a population
BRSO @od0S L wlg b Fidge
3. '

Dominant gene frequency in a population

2T Q) BOAPYLY 23308 AFFa)Ige

4. %



Question Number : 76 Question Id : 7196501676 Question Type : MCQ Option Shuffling : Yes Display Question Number

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Statement I : Homologous organs exhibit convergent evolution

Statement IT : Analogous organs exhibit divergent evolution

VAPAI T 1 Q0788 Pdog SONTPLN WEIPS DOTPSTPR), D030
DBrSS IT 1 SO%P Paldg 29550%0a07e NS DOEPIPY) HE0F0W

The correct option among the following is

€8 §old DAYFOS” HOGLIO

Options :

1.

2.

3.

Both statements [ and II are correct

DA D T 0dadw II HBHD

W
Statement I is correct and statement IT is false
VAT 1 DBHE. DAFED IT DTIS 5°¢0
W
Statement I 1s false and statement II 1s correct
DITED [ DTS 570, DATED 11 28I
o
Both statements I and IT are false
_ j&_:;e‘léi‘!“cééw I So8ain II DB/D 57
*/

: Yes Is Question

Question Number : 77 Question Id : 7196501677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Inphyletic evolution there 1s no multiplication of species.

Reason (R) . In anagenesis one species 1s replaced by another species in course
of time.

VBYBo (A) 1 DOEE DOEPS et EEIVYE e Golicth)

st (R) @ QorEodds wo E3oem eu¥ eoed e93% eFHOUNT 8 058 P
Brarotdbo Woldetobd

The correct option among the followmg is
€8 5ol YYTOS” HOGLSH
Options :
Both A and R are true. R is correct explanation for A

A 208030 R Dao. A 8 R 2B DD

1. v
Both A and R are true. R is not correct explanation for A
A 803 R dzo. A 8 R DB DdHSEs 5°¢0
2. %
A 1s true. But R 1s false
s % A Qzo. 320 R Do 5°¢0
A 1s false. But R 1s true
A Qao 5°¢». 520 R dao
4.8

Question Number : 78 Question Id : 7196501678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Elevated S — T segment in an E.C.G indicates

ECG & S —T avocio 2Sricto HID AFrIRwod

Options :
Hypercalcimia

P06 OO

1. ®



Tachycardia

¢8 sO0dr
2. ® &
Myocardial infarction
R Ve A
3.¢
Hypocalemia
TTTOIT
4. % =5

Question Number : 79 Question Id : 7196501679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Animals that have their own genome and had their DNA manipulated
to possess an extra foreign gene that expresses are transgenic animals.
Reason (R) : The foreign gene expresses biological products to treat certain human

diseases.

U (A) 1 B BT VBIAP Wy 2dgaddd 95850008 DNA Da0oeobsnd
223020aHL 28308 DOSOY 220&aHLN WotTLD.

580 (R) @ @S5 &3ged) §'0) O5P0 Soeaded aPglior DSEH &GIriate DWPgPU)
Sg850PON

The correct option among the following 1s
&t S0l BT DOGLSE
Options :
Both A and R are true. R is cormrect explanation for A

A 208030 R Dzzo. A § R 238 JdSe

1. %
Both A and R are true. R is not correct explanation for A

A SHo8ain R dazo. A 8 R 28 DdGer s°cd.

A 1s true. But R 1s false
A dzo. 570 R Dazo 570



A 1s false. But R 1s true

. A Davo 52, 570 R Q2o
4.

Question Number : 80 Question Id : 7196501680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following

ECG Duration
A. P-wave L 0.8 sec
B. T-wave II. 0.4sec
C. R-Rinterval III. 0.1 sec
D. Q-T interval IV. 0.08 sec
V. 0.2sec
S0l TPEIR 2250GNeb
Qo 0. 2 Eerodly
A, P-&0ufe L 0.8
B. T-&0of%e IL 04350
C. R-R %0 M. 0.18%
D. Q-T 250 IV. 0.08 25
V. 0238

The correct match 1s
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A B C D
II I Vv I
2. %
A B C D
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Correct Marks : 1 Wrong Marks : 0

The fundamental force behind the frictional force 1s

00D 20030 IS8 Gl DS WS 6?

Options :
Gravitational force
[gVe Vo T RN ANY
1. ®
Combination of nuclear and electromagnetic forces
50gd¥ 000K Vg ONTY oD 20rL SLONE
2. ®
Electromagnetic force
DEFTPCTY 0D 20050
3.¢

Frictional force itself

S0 &mgsa 20€Ja300
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Correct Marks : 1 Wrong Marks : 0
In CGS system the magnitude of the force 1s 100 dyne. In another system, where the

tundamental physical quantities are kilogram, metre and minute, the magnitude of the

force 1s

CGS égé@@f 200 CLE), HOSTES) 100 G 8eSTTPos, IS0 OO VAW PO
HOSTFEPOIT KO STE 55562965‘* 2000 CJ08). HOSTESN?

Options :

0.9
R

3.6
2. ¢

2.
3. &

1.8
4. %
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An object 1s moving along x-axis. If its position x(t) (in meter) at any time t (in s) 1s

given by the following graph. then the object 1s at rest about

B8 S0 X-BFo Jowh DB Bl Doe t (REFS) $6 e Pl x(b)
(08865, S Tare D" PTG, & SaT) o DSODSN 5 DT HAES” G0l

l

2 t—s

Options :

t=—1s
1. ®

t=0s
2. ®

t=1s
3.

t=2s
4. %
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A car travels from point A to poimnt B af a speed 40 km/h. The car then returns from B

to A at a speed 60 kim/h. The average speed for the round trip is:

Do) A 3¢ S0 B SG%0 a8 £ 40 kim/h S6e8* HOETEIN00. €8 F& S00 B 56
306 A S50 60 ku/h SGe8” HOSRERD6G. S0 HOSTEe Gy, Kisew S6

Options :

50 kimm/h
1. W

24 km/h
2. W

52 km'h
3 %

48 kmv/h
4.9
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A projectile 1s thrown at a speed v, making an angle & with the horizontal. If the speed

, o : ;
at the maximum height 1s —, then the magnitude of 6 15

V SGeS" S0 JODRES 28 HEOEIN 88 DSTSToS” B S0 V0B, BOR WO S

!
D S6 % 0N, B HOSTBIR woth?
Options :

30.5°

1. ®

60.5°

2. %
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Consider a projectile thrown with an mitial velocity of 10 m/s at an angle 45° with the
horizontal. Which of the following equations describe the projectile’s motion?

(Take g = 10 m/s?)

B8 DEOESD FFoaS Ko 10 /LN, 8 DeSretdtoe” 45° St BLRTF VO
$HOEaES EHL0ET®Y 0. 8 §ob 0 DALEBESD HEDE JOTRY DSV
(2= 10 /537 ©38%E)

Options :
X
B =———0.5x"
V2
1. %
y=x—-0.1x"
2.
= 3x— 4247
3. %
Y= r—lO\/E:rz
4. %
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A body of mass 2kg is acted upon by two perpendicular forces 4N and 3N. The
magnitude and direction of the acceleration of the body respectively are

Sww Qeds0r8 (0 Wl SaH AN Ocin 3N o Tolth @EiUo e
DOIPNdeGTPON. & ide)) CINE), Bgdes HOSTEIe OSN GF TP

Options :
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/
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Three forces act simultaneously on a particle moving with velocity V' . These
torces are represented in magnitude and direction by the three sides of a triangle

ABC as given below. The particle will move with a velocity

eV 8 OB, &8 Stlo 2 aUPLd WD N PO HADT) 00, & WeFL
Cfl.l)§2r 005IPEIe SOOI QLS Se éoCé wWrdewss ABC @gﬁ g8 adereed” Drdoard. Stk
E0S S3e5a50

-~

e

Options :

less than 1V

vV Se) 508

1. %
greater than v
vV Eoey 50
2. %
’17‘ in the direction of the largest force BC
(6% 2000 BC G, &3S V|
3.8
v remaining unchanged
V SRG50G Gotod
4.9
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Correct Marks : 1 Wrong Marks : 0

An object of mass 8 kg moves along positive X - axis. When 1t passes through X =0,
a constant force directed along the negative X - axis begins to act on it. The kinetic
energy of the object is found to be 0 and 30 J for X =5 m and X = 0 m respectively. If
the force continues to act further, then the object moves back along negative X-axis.

The speed of the object when 1t reaches X = —3 m

8 kg wo (b0 0 S00ed) S8 X —wde et Stownthod. b X = 0 O
TPEIS ), BT 8 X — @0 i) Q88206 B0 800 TPID DAW0Ge H8E)QR.

X=5m H0cin X =0 m ¢ fedes 48 Denden G, 0 5000k 30 J. &1 e il

2\/§ ny's

LV
3\5 n's
2. &
3.5m/s
3. %
4.5 m/s
4. ®
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A ball is projected vertically down with an initial velocity from a height 10 m onto a
horizontal floor. During the impact i1t loses 20% of the energy and rebounds to the
same height. What 1s the 1nitial velocity of its projection?

(Use g= 10 m/s?)

10 m © oJ€) Sdok VDT §oldS 8u¥ 2o 2 VSeS Su (floor) 2 Pdoasaiioes”
DED0D2G00. S RIS LoD ©d 20% 80 5" \8r of JS S0H Sk

[ a"éo&‘j éﬁbﬂ? a0
(g= 10 n/s* e &DC3rheel)

Options :

54/2 m's
LY

10\/2‘: nm's
2. ®

5+4/3 m's
3. %

IO\E m's

4.%
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An object of mass 2 kg is moving with a uniform velocity of 2 m/s parallel to the
Y-direction. At the time of 7 =0s the particle 1s located on the X - axis 3 meters away

from the origin O, then the angular momentum (in ke m?/s) about O at 7 = 45 is

2 kg G85078 0 8 S0 2 mis © DEOS Kot Y-emas DesretiSert SOK60.
r =0s o‘.’JCaf} 6 L 2otiad) O ok 3m &rdesS” X — 8o Gerd) S0 1= 4s 0% ‘O
e o0 $EHAD 3gaitte (kg m¥s &°)

Options :



_1242 &

1.

1242 &
2.

_12 k
3. %

12 k
4.9
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A ball of mass 200 g is thrown directly upward from X-axis from x = 2 m position.
The mutial speed of the ball 1s 40 m/s. The magnitude (absolute value) of the angular
momentum of the ball about the origin (x = 0), when the ball 1s halfway back to the

ground 1s:

200 g Q5072 0 el 20080 X— @980 Dok, ¥ = 2 m 5@ JOXP 25 DV0JTL. 200ed
aPOord 56 40 m/s 90D 20 Jugdny) BON HASFB Dl KFdetS &) W e
2otidad) (¥ = 0) <ot e 20 §EOD (b o3t HOSIEIe (o Deds):

Options :

8 N.m
1. W

16 N.m
2. %

8\5 N.m

16+/2 N.m
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A physical pendulum consists of two thin rods of equal mass, each of length 1 meter.
The rods are joined together at point P as shown i the figure below. The angular
frequency of the pendulum about pomnt P (which is at the center of horizontal rod) 1s

(Assume g = 10 m/s?)

0l BT S0 DS 5508 SO 887 5,6 1 m e S Both B5) O ¥6OK A
&7 OW. & Toll $Gen P &6 D80S Wi D63 Seudals &) 0. ‘P’ (202 Do
£68 Sotdg Botioad) Sodw SO S'BAD FIgo

(g =10 m/s? ©H8%6)

P
[ _ ., ] 1
12m || 12m

im

Options :

2 ﬁ rad/s

3 \E rad/s

4 rad/s

3 \/% rad/s
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A satellite is orbiting a planet in a circular orbit of radius 1 = 107 m. The gravitational
force F on the satellite due to the planet is 80 N. What would be the new F if the orbit
radius is doubled to 2 x 10" m?

-
£
Eai

(550 88 (§ire wdé 1 % 10" m FgFGo (0 ST S DOFWeR. & (Jiro

EDHTD HOTD BHEPESH w0 F owns 80 N. e S085r 885 TgPdsn 063,
2 x 107 m ©00, S8 F 9008

Options :

10N
1. &

20N
2.9

30N
3. %

40 N
4. %
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Stress vs strain for the elastic tissue of the aorta, the large tube (vessel) carrying blood
from the heart, will be: [Stress 1s proportional to square of the strain for the elastic

tissue of the aorta]

SFDE ¥eaerotin WG, W TESN(TeFI0) ol Soke ST, SWEIITH,

DS — DEYD DotootP) NPDowdld: [BPDE KeagrotiL 20y I"Redis HBeonw,
SVATCEOVIVCIRN oLV ANVSIN VN b Do L RTAVETAY
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A lead ball of 1 mm diameter falls through a long column of glycerine. The vanation

of its velocity with distance covered is represented by

1 mm o5 50 & 80 IS KoESNTP &Sy HNOS Doasaind Koot DB, ©
370 5D BPBotS” TR0 IS0 §old DBSVIF [P HP D03

Options :

Srio
Velocity —

Distance —
[abpelel

Pulgle)
Welocity —

Distance —
tiedio

2. %

Iro
Velocity —

Distance —
naginlel

Ao
Velocity —

Distance —
" favilels

Question Number : 97 Question Id : 7196501697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



A square sheet of metal of side 4R has a circular hole of radius R cut out
symmetrically. The coefficient of linear expansion 1s o . If the temperature of the

sheet 1s increased by a very small amount AT, then the area of sheet 1s changed by

CaR* AT . The magnitude of constant ‘C” is
(GivenA—T <<l |

\ I /
ghzsn 4R o af IBdrsd Sony dof R J’ﬁb"go o Do §T0NeGS
5TB0 Soo EDNPod. T g TrgSS hease ‘a7 HOE Ay &IESS oBBE) S
HOSTEISD AT VoS, DOE gy, JFvge CaR® AT 1 SrEo0d. SRS
‘C g, HOXTESN

!

AT
(T

<<l ydgetod )
Options :

(16 + 7)

1. %

(16 —7)

2(16 — 7)

2016+ 7)

4. %
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A glass flask of volume 100 cm® is completely filled with mercury at 20 °C. The
amount of mercury that spills over when the flask 1s heated to 100 °C 1s :
(coefficient of volume expansion for glass = 30 = 107%/ °C, and for

mercury = 0.18 x 1078/ °C)

D0SH0TEe 100 e’ B Py TR 20 °C S¢ QPOrT F60ees” QeaPdd. Py
100 °C 3% 36 32 0Heso 3 FBSKe HOST e
(P22 OSHOBTES T35 (Esso = 30 x 1078/°C 500k PSS = 0.18 * 107%/°C)

Options :

24 x 1074 em

0.14 < 107% em?®
2. %

3. %

2.4 %107 em?®
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Two cylinders A and B of equal capacity are connected to each other via a stopcock.

A contains an 1deal gas at standard temperature (T, )and pressure. B 1s empty. Then
the entire system 1s thermally msulated. The stopcock is suddenly opened. After the

gas reaches equilibrium the temperature (T>) of the gas measured. Which of the

following is correct?

QSIS PSoGgedn O A SH0050 B Lraren sfmrsTied 2d8ee trgor St ea®) 0.

w8 Q0% &YHS (T,) DO Mo S¢& ‘A’ 2 &8y raSed)S SO0 &od. B’ ardrr
GodeledRiR. & Sgdgh Sude &Y etife WOEIGR. WISGED @EF TP (suddenly)
BODS & 0N DT PBS BBHFS) BSTS Troued) &S (T2) D SO, &
88 S DTS

Options :

T, =2I,
1. %

o

=B
2. % -

5=F;
3.¥

7, cannot be determine

T, @ 0°0e 5850

4.

Question Number : 100 Question Id : 7196501700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



A rigid triangular molecule consists 8 degrees of freedom. The adiabatic constant

i (" -
L\ . 0 “ - "
P J of an 1deal gas consisting of such molecules is

2u¥ BEEPED) Gytaded Wewad) 8 Pyoghs HOWLD OO &) &. 98 e SO

) { C‘n i
0y oS0 Gy R HUTEo | ¥= C‘” ,
\ v J
Options :
1.20
1. ®
1.25
2.
1.30
3. %
L33
4 &
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Two vehicles A and B are approaching an observer O at rest as shown below. Both
vehicles are moving at same speed and have identical sirens blowing at frequency vs.
The observer hears the sirens produced by A and B at frequency va and vp

respectively. The correct statement 1s

S8 DS LPDS DR, ‘O 3¢ DT 1B & &y 28 DOBLKD SHH A Sdokn B
Dold TPEPRIPEN DRDAIROT®) OO, Dot PPl &8 SGieS” Soendhr Q6D V05 FOH
&S Fdddge Vs 3¢ IPORNTR) 0N, 20, & DOBLECL S7Se A 00N B 280 ol

EC)DeW PV FIBYIge SEOT VA 005N VB TP D) €. &8 5ol PV DS DS3TE

B
0
120
O A

Options :

VS>VBR>VA
1. %

VAZVB=VS
2. ®

VA = VB<Vs
3. &

VA = VB=Vs
4.
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The critical angle for total internal reflection for going from a medium 1 to medmumn 2

1s 6. If the speed of light in medium 1 is v, then the speed of light in medium 2 1s

QIES8Sn 1 ool OUPSESn 2 J5 S8 Dorore®dd DOPSES Dol Swe 0.
OSTP5550 1 €5 57063 oitto L ‘3—30.1.)05, 2 &5 O3PaS%o Pt X% ?

Options :

v (1—cos 0)
1. W

v
sin 6

R4

v cos 0
3. %

v sin 6
4. %
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A bi-convex lens made of glass (refractive index 1.5) 1s put in a hiquid of refractive

index 1.7. Its focal length will be

(Pezed” SOPE) WS 2.8 (3500207570 580 (1.5 5838 toea8s) O 1.7 S8a3sa Koo e
écﬁo@ﬁ %oﬁf"dﬁ], [vRdsd] ?ﬁgo@éo

Options :
decrease and change sign

?ﬁ@@}o(ﬁ) Butleler it rﬁo%ﬁ STEEERE

1. &

increase and change sign

eV VLT ARR el VIV B’Jo@ 35280806



decrease and remain of the same sign

StiB08 SH00KN 8 VegE Gotnod

mcrease and remain of the same sign

DB SO0 @B roo%e‘f AN T
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In Young's double slit experiment. the separation between the slits is halved and the

distance between the slits and screen 1s doubled. The fringe width will be

05306 2200 IO% HAPKLES, O8O Jxtdy GPOVY, VIPOS Bhow, IO%e SO0 B
%, BFoeRy Doblos) I, HEE ey

Options :
halved
e 98008
1. %
doubled
5@0@ @@@Jo&
2. ® )
quadrupled
TPOX DO @00l
3.
unchanged
500y el
4, %
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A solid metal sphere with a spherical cavity as shown below has a total charge Q. Let

O be the centre of the sphere and P and Q are two points equidistant from it

(o7l-foa). 1 [£

and ‘fé

are magnitude of electric field at P and Q

respectively, then the correct statement 1s

062 IS D (TPOD §odS0(spherical cavity) FOHS 03 ST TFS0 S0
@addo Q ¥OH ad)h. ‘O (Teo Cl¥)y Sodly Wotiiad) ok P SO0 Q v Dalyee

8o’ amy o, ey (|OF|=[0g])eo wows |E,| ook || e, st P

50050 Q © 3¢ DS F& VOSTEEID, KOS DS

Q SRt
Metal Sphere

S ST ibb)

Cavity

Options :
Eo|=Ee|=0
1. %
E|>|E,
2.
E,|<[E,
3. %
EfEdlo
4.
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In a parallel plate with air capacitor of capacitance 8 pF. if the lower half of the air

space is filled with a material of dielectric constant 3. its capacitance changes to:

8 PF SrdEDY (0 Dot Dufu o) SFPRLES, §obd Do TPON ©othreiocs'

&8 yooa¥e 3 Ko amgmg Do, JAr8d oo gav?aeam\}

Options :

3uF
1. %

12 uF
2. &

16 pF
3.¥

24 pF
4. ®
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Find the equivalent resistance between point A & B.

A 0080 B © iy @oog A GSn

10 10
Ae AW AV
202
29% § 10
10 10
B e——AMWW VAR
Options :
1
— Q
2
1. &
10
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Consider the circuit as shown below. Inthe crcmit R1 = R>=R3=4 Q. Vi =10 V and

V2 =35 V. The current flowing through resistance R3 1s

=t éo&: 5@0@""‘%3‘ BoDodels. OO R1=Ro=R3=4Q, Vi =10V 60w V2 =5 V.
R3 D50 Soot® éc‘éé}“o;s) ) 5?5 éﬁ‘“ﬁ"o

Ri R,
WA VWA

Options :

0A
1. ®

1A
2. &

1.75A
3. %

125 A
4.
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A particle of charge q = 1.5 * 107°C and mass m=9 = 107! Kg follows a helical path

_% ] A A Ay
in a uniform magnetic field given by B :[ 201—50j+30k {mT. At time t = 0, the

\ )
oy o

A A g
velocity of the particle is given by V=| 201-30j+50k |111f's. If R 1s the radius of

\

helical path then correct statement 1s

wF¥o q=1.5 x 1071°C S00%0 $550°8 m=9 x 107! Kg SO0 2 Seao 05 000,08

/ A A A\
201—50 j+30k |mT & oGSt D0 0 D5°0) (helical path)

)
\.

Eo B=

©DIOWD. t = 0 DHATRS, & Sero OIE, Fo ?:(201—30 i+ soﬂmfs oD

£

08000 Do OIS Pgdo R ©0SS, 00 Deards

Options :

R=6nnm

1. %

5<R <6nm

2.

4>=R>5nm
3. %

R=> 8 nm
4. %
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-

An infinitely long solenoid of radius a= — cm and 10 turns/cm is placed such that its
T

axis of symmetry lies along the X-axis. A current ‘I" is flowing through the solenoid
(= means that I is flowing into and - means it is flowing out of the page).

A straight infinite wire with current 25 I is placed parallel to the X-axis at a distance

= away from the center. Which of the following gives the direction of net magnetic

]

field at the origin?

FgPlo a = — cm SO0 10 oew/cm EDAD edod FEUIS FOTFoWE sy
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231
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Options :
2X+zZ
V5
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Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The materials suitable for making electromagnets should have

D FLIOIITY, TP BOSEE) WOSWEK &AM N0 DEPTHLR GolidLASD

Options :
high retentivity and low coercivity

WOF oG 30 SO0 Loy AT

1 ®
low retentivity and low coercivity
LN TG B HO0KD VLY ARTFS
2. ¢
high retentivity and high coercivity
&% r0e 30 HOAW WO VTS
3. %
low retentivity and high coercivity
B 506 IV HO0KW WOE AJTS
4 %
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Two coils are placed close to each other. The mutual inductance of the pair of coils

depends upon

Tothy SHGLD e EPUSEED IO Godeairon. S &S & Wrdw dlngy edgdy 0
STODG GoGeld.
Options :
the rates at which currents are changing in the two coils simultaneously

ot SBEiIS’ DCige DT 6y BN DHFOEorP

1. %

relative position and orientation of the two coils

Doty WOGL GgHL Tk E}“@o 2300030 HhgPgS0

the materials of the wires of the coils
WAL 3¢9 DTedaioen

3 N )
the current n the two coils

Boted é&@u@ﬁa 535335@5 DTPETS0

4. %

Question Number : 113 Question Id : 7196501713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

In an oscillating LC circuit when 75% of their total energy is stored in the inductor’s

magnetic field, the charge on the capacitor as fraction of maximum charge on 1t 1s

¥ CUroars LC $00%ees” anddasn 48 ¢ 75% 0550650 ©0iiry oth £S5’ dug
God, STFVE0 DI &) Bdde TUR &) (0D WF By e

Options :

0.2

1. ®



Question Number : 114 Question Id : 7196501714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

A light beam travelling in the X-—direction is described by the electric field
Ey = (600 V/m) sin (ot +¢). An electron is constrained to move along the Y—direction

with a speed of 1.0 » 10" m/s. Find the maximum magnetic force on the electron.

X—e9¥o (ooG® émﬁ@él qud 5P0d @083"@;1' &)@5@5 i@o Ey = (600 V/m) sin (ot +b)
IO ABDesSdy. 1.0 % 107 m/s Jteed” HOSPENS) DU Y980 dotb

—o

E0SEx0 DO BT, DOFIDDDT) H0Q V) o 2002 B ook,
Options :

18x 10717N

32x 10718N

32x 10N

18 % 10718 N

Question Number : 115 Question Id : 7196501715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An electron falls through a potential difference due to which its kinetic energy

becomes 4 times its value before the fall. The de-Broglie wavelength will be

28 JUFPID FKEIc0 oot DT ot TP (edes §8 DEOEZ St &) Densd
%83 4 6&?&} 290k, @-@?Q Gfﬂ(f)oﬁ@gsc



Options :
Doubled
6(‘%\;]0:9_) @aﬁj@&o&

1. %

halved

P8 S0

unchanged

&ﬁ?(ﬁ)gaoéfﬁ)

3. %

tripled
P E0LN B&Ee W)l

Question Number : 116 Question Id : 7196501716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

In the hydrogen atom the ratio of wavelengths of the Balmer transition (n =4 ton=2)

to Lyman transition (n =3 - n=1)1s

TERS DOSTEWHS'D 8STE VofDe (1= 4 Do 0 = 2 SEK) $o& GBS Vo&Hes

=3 - n=1) © BCART3L IND

Options :
128
27
1.
18
64
2. %
E
18
3. %
il
128



Question Number : 117 Question Id : 7196501717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A sample of a radioactive element with mitial mass of 32 g decayed to 4 g n

42 minutes. How much of the original sample remained after first 14 minutes?

32 g rlos (85078 (30 8 Salares OGOIR 0 ¥ SureiSo 42 QFOS” LODodol 4 g
%0 StHod. B0ES 14 QQVPL BT e Srmre’ edo® L.

Options :

2. %

3. %

Question Number : 118 Question Id : 7196501718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Solar cell 1s a photodiode operated at

FO Doosdw 88 FETEAPG O HAVVO
Options :
zero bias voltage

ey )0 S8 55

constant bias voltage

8 $&0 STe 3

2. %



torward bias voltage

D6 S0 See 3¢5

reverse bias voltage

A $K0 '8 3¢

4. %

Question Number : 119 Question Id : 7196501719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For LED’s to emit light m visible region of electromagnetic radiation. it should have

energy band gap in the range of

T &l Galré LED e QGogloiriry e D880 Gyl roesS 5203
JE0S0ouIERS TS GoledSONS €5 oS Pyl
Options :
0.1eVito04eV
0.1 eV 506 0.4 eV

1. %

0.5eVto0.8eV

0.5 eV 0ok 0.8 eV
2. %

0.9eVtol5eV

0.9 eV el 1.5 eV
3.%

1.6eVio32eV

1.6 eV So& 3.2 eV
4.
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Television signals along the line of sight on earth cannot be received at distances

greater than 100 km from the transmission station. The reason behind this 1s that

DS BolSo Sl TS0V HoSEPLL BPND ByR0w° Tt 100 km Sol3 &S Erdets”
(9872030, QRS SPEEIDI ST

Options :

the receiver antenna 1s unable to detect the signal at a distance greater than

100 km
100 km %083 o)i’;oer&') oS’ [PerSo Woldo) BSerPR), (aredSo

1. &

the TV programme consists of both audio and video signals

28 TV 5205505065 & ydg 00080 FaSes Oothd J57L DoSTPL &olI"aw
2. %

the TV signals are less powerful than radio signals

OGP DoSTL Eold TV DoSTPLL LS &olIP0N
3. %

the surface of earth is curved like a sphere

25 &008e0 (YO0 :f)éoU" ool
4.
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Correct Marks : 1 Wrong Marks : 0



| .
An electron has the quantum numbersn =4, ( =1, m =0. ms = _E the electron 1s

present in which orbital?

28 U9 CI0E), S°goldo Dotrgenn=4, ( =1, m,=0, ms= +% O, & Jugjﬁ o

—

S0YEPS & Golaod.
Options :
4s
1. ®
4p
2.
4d
3. &
4f
4, %

Question Number : 122 Question Id : 7196501722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

‘What 1s the total number of orbitals associated with the principal quantum number

n=47?

DI Y0bvo Dotdg 1= 4 5° EPEALUS), S0ho WOYERYY Hotg Joth?

Options :

12
1. ®

14
2. ®

16



18

Question Number : 123 Question Id : 7196501723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The decreasing order of metallic character of the elements Be, Mg, and P is

Be, Mg <0050 P aharedsnn S8 D5amde & abaln

Options :

P > Be > Mg
1. ®

Mg = Be = P
2.

Be < P < Mg
3. %

Mg < P < Be
4 %

Question Number : 124 Question Id : 7196501724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one has the highest first ionization enthalpy among Na, Mg, K and Ca?

Na, Mg, K 50605n Ca 0 B 3206563 eaindsdes 35 oziéoaro‘é)ﬂ“ &ollold

Options :

K

1. %



Mg

2.

Na
3. %

Ca
4. ®

Question Number : 125 Question Id : 7196501725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arrange the following systems with respect to the correct order of hydrogen bond

strength
TPEE 290 2000 D500 &8 §obd TPUR VB EootS @ahodyole
i)  OH-O (i) NH-O (iii) FH--O

Options :

(1) = (1) > (1)

1. &
(1) > (1) > (11)
2. &
(ii1) > (1) > (i)
3. ¢
(i11) > (11) > (1)
4.
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What are the formal charges on oxygen atoms in the following Lewis structure of

HNO, ?

$o& gigetad HNO,; 0y, eroun Q0%6et @8y O0Smadhu dodd Gole PEYS

€33N oJotH?

l.. e
0=N=0-H
l

0:

. wld

Options :

(00).(0%-1).(0%0)

(0:-1).(0%0).(0%-1)

(0%0).(0%-1).(0%+1)
(0%:-1).(0%0).(0%0)

Question Number : 127 Question Id : 7196501727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What will be the pressure of a gas mixture contaming 2.8 g of N2 (g). 2.6 g of C:Ho» (g)
and 3.0 g of C2Hs(g), at 27 °C ina 9000 em® container?

27 °C ¢ 9000 cm® B0 e 2.8 tF N2 (), 2.6 77 CoH (%) 0050 3.0 rp C2Hs (o)
STPO%0 g0 ad) G @O & TPOKL ALFe e Woh?

Options :



8.2 atm

1. &

0.82 atm
R4

0.08 atm
3. %

1.2 atm
4. %

Question Number : 128 Question Id : 7196501728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the mncorrect statements for an ideal gas

00y TPO50e) (0 DO gy PG

Options :

The product of volume and pressure of a fixed amount of gas i1s dependent of

femperafure.

Q0D POl DOSTEIo CIZ)  AVSNOSTE  SHOCN DETPU Vi &SR

TAL TPV IL A
1. ®
Molecules of different gases have the same ‘Average Kinetic Energy’ at a given
temperature.
S0 36 TPOENLHL WEDHELD &8 FD NS GAFH 56 203 0TP00 (id23dS R EDadolean.
2. ®

Van der Waals mteraction dominates over thermal energy at very low

temperature.

SO SAHD S Tot6 TG B35 S5 ST DS LXK HEOIE.



Collision of molecules are perfectly elastic.

VEVHL 0G5 23001 CPLTPLL PO 1D POES EONID.

Question Number : 129 Question Id : 7196501729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For the given disproportionation reaction.

I+ H0—=1; + 1&g €I+ H"

The numerical coefficients of IO; and C1™ in the balanced equation are respectively

SRS WSS 2583 (DS DCIFSSg)
ICl; +H,0 ==1, +10; +CI" +H’

hoerg DeEGeeS 105 00050 CI o Soary (oeaseen SEO0rP

Options :
5and 9
5 oo 9
1. ®
3and 18
3 S0csn 18
2. %
3 and 20
3 50605 20
3.
18 and 20
18 obadw 20
4. ®
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Correct Marks : 1 Wrong Marks : 0

‘What 1s the mass percent of carbon in carbon monoxide?

FENR SFISYG & 6D Badg0°s Fo JotH?

Options :

37.15
1. &

40.27
2w

42 85
3.

68.35

4 ®

Question Number : 131 Question Id : 7196501731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
‘Which of the following pairs belongs to extensive property?
8ol BB o 2 DFS G850 DotIEIIE.

Options :

Heat capacity and Temperature

ENTPOR SO0 G

Internal energy and Pressure

oth0% #§ 300050 Hio



Density and Volume

DA ANV RTO SRRAVINES IO VGE S
3. ®

Mass and Enthalpy

5653078 0050 W@y
4.9

Question Number : 132 Question Id : 7196501732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For the reaction N, (g)+3H, (g) —— 2NH, (g). the change in enthalpy is

AH = —92.38 kJ/mol . Choose the correct statement.

(1) Rise in temperature will result in low yield of ammonia at equilibrium by
shifting the equilibrium toward left.

(1)  Addition of imert argon gas. at constant volume will have no effect on

equilibrium.

N, (o) +3H, (o°) ——2NH, (),

SFODS SOy OIS, womrdy &G0y AH= —92.38 kJ/mol. 00GDHS OSGED

Qo83 § a5

(1) NDTD 3G @S Do, GPoDS I3 diéady FOH (BETP Ig) 2260
Salr A0S OJnE). GBS Sd.

(i) S INOSTEe SO ST°O Sold BETONDD S0°g WESTAS 3%5%3@,
DDEPB D HETFS0 Goticd.
Options :

(i) is correct but (ii) is incorrect

(i) 086 TR (ii) T30
1. %

both (i) and (ii) are incorrect

(i) s228a8w (ii) B3 T
2. &



both (1) and (ii) are correct
(1) sdaln (if) W52
3.¢
(i) is incorrect buf (ii) is correct

(i) 0238 0 R (if) PDS6
4 %

Question Number : 133 Question Id : 7196501733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
For the given equilibrium reaction.
_I_
CH,.COOH+HCOL =—=CH.CODH,+ €I

The equilibrium constant is 3.9x10™ at 398 K. Choose the correct set of conjugate

acid base pairs, respectively

aﬁ)‘}@ "n)aﬁ)@”i)@ \:315,8
+
CH,COOH + HCl —— CH,COOH,+ CI"

50398 K 5565 0a008PD 200%o 3.9x107, $oefied eab-3rS 23900 SGumP $OHS KOS

o,

D3
Options :

_l_
(CH3COOH. HCl) and (CH,COOH, . CI")

(CH:COOH, HCl) 50605 (CH,COOH, . CI°)

1. %

(CHsCOOH, CI") and (CH,COOH, , HC])
+
(CH;COOH, CI™) &6ato (CH,COOH, . HCI)
2. %
(CH,COOH, , HCI) and (CH3COOH, CI")

(CH,COOH, ., HC1) 56050 (CH;COOH, CI)

3. %



+
(HCL, C1") and (CH;COOH, CH,COOH,)

+
(HCI, C1I") &oosdwn (CH3COOH, CH,COOH,)

Question Number : 134 Question Id : 7196501734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Permanent hardness of water, due to the presence of MgSO,, can be removed by
(1) Washing soda

(n)  Calgon’s method

(1) Boiling

(1v)  Table salt

MeSO, SUS 45 TH FOIZS, LORR TESD DD?
(1) om0 e

(i) SOSHESD

(iii)  So0fo

(V) T &)

Options :

(i), (ii) and (iii)
(i), (ii) 005 (iii)

(1) and (i1) only
(1) 00050 (ii) el
2.¥
(1) and (1i1) only
(1) 00k (i) SSad

(11) and (ii1) only

(i) 00050 (iif) &gl
4. %



Question Number : 135 Question Id : 7196501735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

Which of the followmg options are true with reference to the below statements?

(1) First 1omization energy of the alkali metal 1s lower than the alkaline earth metal
in the same period.

(11) Second 1onization energy of the alkali metal 1s higher than that of the alkaline
earth metals in the same period.

(1)  Ionization energy remains constant in the same period.

&3 8ol EgS00eS" HOTDS TPEIR WdovdoS’ol

(1) =0 SHPO S06E) 050 38 @0 HOONE 'R T6 SHYBE TP T°) ¥y P
&otol.

(i) =0 ST Ootisd WODNAEEE 48 BB HOGHE SV TG SHYBE S T°) w50y SP
&0,

(i) 28 LO0NGE S ONVESE ¥ VTP Gotlol.

Options :
(1) and (i11) only
(1) 00K (iii) arghsdd

1. %
(11) and (i11) only
(ii) Sooakw (iii) Segad
2. %
(1) and (i1) only
(1) 500050 (ii) alrghad
3.¥
(1), (11) and (111)
(1), (1) So6CSw (111)
4. ®

Question Number : 136 Question Id : 7196501736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

With reference to diborane ( B,H, ). identify the correct statement

GeSBS (B,H,) t500) 085 aegangesd ado) s
Options :

There 1s direct boron — boron bond

AL OUSEAT oL g@,‘ao’g 2ol oé)olﬁ.l.)o&}

1 ®
The structure 1s similar to that of C,H,
1 ; @O"égao:-&} TOaoold
2. %
The boron atoms are linked through hydrogen bridges
e5'0PR DESTFEDHLO TFEE PG 2R TPJ0° SO GolI0w
3.
It 1s a planar molecule
A VDB BLDY)
4. %

Question Number : 137 Question Id : 7196501737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

CF41s a gas. CCly 1s a liquud, CBry and Cl4 are solids at room temperature. The highest

bond enthalpy 1s observed 1n

56 S 3¢ CFa Posned), CCly o, CBrg 0050 Cly € HISHEFTEen. S0 FIeS
50

of &

C:)OEEQ@;] 0305}3656 Gololy?
Options :

C-1

1. %



2. &

Y 3 |
3. %

C-F
4.

Question Number : 138 Question Id : 7196501738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

Which of the following statements i1s wrong?

800 DBV 26 DOGIG 0.

Options :

Ozone hole 1s thinning of ozone layer present in stratosphere

8,250 ﬁoéo (NN é"?@gﬁ 258800eT Buad’m arG e8Sutucie)

1 ®
Ozone can oxidise sulphur dioxide present in the atmosphere to sulphur trioxide
Bl PEPSUEIE ) DLY0 GUSHYE O Vo6 G9ess G P e8)5Geso WO
2. ®
Ozone 1s not responsible for greenhouse effect
TP e Derslo (Hm 70 DDB0) S50 bued’® 0% T
3.
Ozone is produced in the upper stratosphere by the action of UV rays on the
oxygen molecules
P9t S5080S" ©8)2I(02) et UV 28lere SOy wegor 863" &‘CSQGRJ&)
4 %
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The TUPAC name of the followmg compound is

&a 800 FSZES D30y ¥o 0%, TUPAC 5085

/\‘/lg OrCI

2.3-Diethyl butanoyl chloride
2

Options :

3-3u06 g Sons §96

1. &
3—Methyl-2—ethyl pentanovl chloride
3— 0BG 2300 J0tS0NS §O6
2..%
2—Ethyl-3-methyl pentanoyl chloride
2— 906 —3— PO JoddToNS §OG
3. ¢
1-Oxo—1—chloro-2—ethyl-3—methyl pentane
1-8y-1-§'6-2—- 335 —3— PO Do
4. ®
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The major product of the following reactions is
800 55" ©90%o(250, )T S YGE SBYS) 0 NE?

(i) HBIL. (CeHsCO),0,, A

Styrene >
=
2o9 (i) Na, dry ether
& Be56
Options :
CH,
1. &
CH,

2. %
3. %
4.
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The major product of the following reactions is

80 W35S ORZrT DSNE &) 0 O

(1) O;
(ii) Zn, H,0

N
>
Hs i) NaBH,
(iv) conc. H,SO4, 413 K
&

Options :
OH
< :CH3
CH;
1. ®
CH;

2.

<;>1\0H3
3. %

Q@H 2
4. %
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The closest distance between the two atoms in a FCC lattice, in terms of edge length

g 18

oSO 'a' (&% HOND a) P:°Go, FCC 25" adsdd Bothy HOSTamdL 5tdg 505
rdo

Options :
a
1. %
a
2
2. ¢

Question Number : 143 Question Id : 7196501743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0
Latent heat of vaporization for a liquid solvent is 500 cal/g. If the boiling pointis T, K.

the value of K, of the solvent in K kg mol™ is

2u8 QOSTled Qg eTaYasSS HoErRe 500 SPOOL/MP. a8 3% PR era)isrde T, K

wond & grsed K, seus K kg mol ™ &

Options :

4 x 10° T,



25 30
2. &

1w 10%L7
3. &

3 x 10° T,
4, %

Question Number : 144 Question Id : 7196501744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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A mixture of 250 ml of A and 250 ml of B shows positive deviation from ideality. A
second mixture of 250 ml of A and 250 ml of C shows negative deviation from ideality.

Which of the following statements is true?

250 ml A 50050 250 ml B 3 andosn €8y HS6S Dot Suen¥ SO,
£507%006. Dotdas 20FSre 250 ml A 0005w 250 ml C €88y HSTS $ols 2I0ETEH 8
DSOTVY, 205033000, §obd TS HBSE 2B,

Options :

Volume of (A+B) > Volumeof(A+C)

(A+B) £08550857830 > (A+C) L0500

Volume of (A+B) < Volumeof (A+C)

(A+B) $0:55085880 < (A+C) L0300 Es0

Volume of (A+B) = Volumeof (A+C)

(A+B) 0a500e307g30 = (A+C) 050030



Volume of (A+B) > 500mland (A+C) > 500ml

(A+B) Dud00aPsme > 500ml 0003w (A+C) Dud00a85Pe0 = 500ml

Question Number : 145 Question Id : 7196501745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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At 298 K, the EMF of the given cell is
71 | ZnSO4 (0.1M) || ZnSO4 (1M) | Zng

298 K 3¢5 8005 B3g06eS Hotdo ciuty, EMF

A

gy | ZnSO4 (0.1M) || ZnSOs (1M) | Zngy

Options :
+0.03V

1.V

—0.03V
2. &

— 006V
3. &

1.0V
4. ®
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The rate constant of a reaction is given by log k=5 — — + 3 log T. What will be the

|

value of E; at 227 °C? (E, 1s activation energy)

Given R =2 cal mol'K™!

S0g 08y Bew dorele log k =5 — — + 3 log T. 227 °C & Ea 00858 B8y oudet.

= |

(Ea- 68223%8) R = 2 cal mol™'K™

Options :

2 keal / mol

| %

3 kcal / mol
2. ¥

4 keal / mol
3. ®

5 keal / mol
4, %

Question Number : 147 Question Id : 7196501747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2 grams of charcoal 1s placed in a 100 mL of 0.05 M acid. After the adsorption, molarity
of the acid decreases to 0.04 M. Surface area of charcoal 5 X 10° m”> g—1. The surface
area in m” of charcoal which adsorbs one acid molecule is

(Given molecular weight of the acid =70 g mol™)

100 mL © 0.05 M &5050350 2 [PSne G 6 SOHT78. @03 Nt G eedo
gy, Irerodd 0.04 M % SAS6. 6;,S ) &H0%L Jruge 5 X 102 m? g1, af
el WEReY) ©HT oG PG ) &HOBL JFwvge m(? ) &

(5800 C30%), @eaEde =70 g mol™ )

Options :



1.66 x 107"

1.¢¥

833 x 107"
2. %

1.66 x 107
3. %

333 x 107"
4. %

Question Number : 148 Question Id : 7196501748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Mond’s process, nickel carbonyl decomposes at

S8 DEAES DBS FEXIS S0So BB S

Options :

~80°C
1. &

~180°C
2.

~280°C
3. &

~380°C
4. %

Question Number : 149 Question Id : 7196501749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Bent T—shaped interhalogen compound 1s

So0c) T35y EDHS) WBEHFST2e0 D Fdo

Options :

CIF3
1.V

ICl1
2. &

CIFs
3. &

IF7
4. %

Question Number : 150 Question Id : 7196501750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Among (1) XeO,. (i1) XeOF, and (111) XeF;, those having same number of lone pairs

on Xe are?

(1) XeO,;, (ii) XeOF, 56050 (iii) XeF,, &5 Xe S 28 bo%})geﬁ" 20 23080 @05035
g S) é&é@’ﬁfﬁw

Options :

(1) and (11) only

(1) o00%w (ii) Sorghed
1. %

(1) and (ii1) only

(1) 200K (iii) SIS
2. %

(11) and (111) only

(1) 000k (iii) e

3. %



(i), (ii) and (iii)
(i), (ii) 50050 (iii)

Question Number : 151 Question Id : 7196501751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The pair having similar magnetic moment 1s

%S @Cﬁdﬁ“&o@ Uaaﬂ;ﬁbé S SUN DAY 5‘@;}5 23¢9

Options :
Ti* and V**
T o005 V¥
| ®
Cr’* and Mn?™
Cr™ 60y Mn2t
2. &
Mn®" and Fe?”
M2 Sobasw Fe?t
3.
Fe?" and Mn**
Fe?" 6050 Mn?*
4 %

Question Number : 152 Question Id : 7196501752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The 1onization isomer of [Cr(HzO}4 CI{NOQ.)] Cl 18

| Cr(H,0), CI(NO, ) |C1 ciwg) ©cHdssen Fidydsto

Options :

| Cr(H,0),(NO,)|cl,
1. %

| Cr(H,0), CL, |(NO,)
2.¥

[Cr(H,0), Cl(ONO)C1]

3. %

| Cr(H,0), CL(NO,) |H,0
4, ®

Question Number : 153 Question Id : 7196501753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a polymer, there are 300 molecules of molecular weight 100, 200 molecules of
molecular weight 1000 and 100 molecules of molecular weight 10000. The number

average molecular weight of polymer is

2.8 F0GS, 100 esmzrde E0S 300 eeahen, 1000 ecaerde 5O 200 eeaadhen
350050 10000 escazrdo SO 100 eenaden ey 0w, & PSS 0l Ditw Doy et
Qads03

Options :

1050

1. %



6050

2. %

9400
3. %

2050
4.9

Question Number : 154 Question Id : 7196501754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Starch undergoes hydrolysis when boiled with dilute sulphuric acid at 393 K and under

a pressure gives

393 K & 50005 Hicide S, POy DO D0y 508 €eieed” 3hdinstny wond
20N Dol 0 SEVT®) € BN ETON?
Options :

Glucose and Fructose

GRS’ S00%0 $§'E

1. W
Sucrose and Maltose
0828 200050 éjﬂt}“ ]
2. %
Glucose only
3.
Sucrose and Fructose
087E8 0008w Qé"“ )
4. ®

Question Number : 155 Question Id : 7196501755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Choose the wrong statement from the following

e 8ol T DO 03“,853.)5‘5) o;)r:i)lg’ olo
Options :

Sodium hydrogen carbonate 1s an antacid

Vo e 570 )3 a8 @b HTO (9etrdl)

1. &
Aluminium and magnesium hydroxides mixture acts as an antacid
LU ANV0N SO o001 RO FTESYG 0Fe0edn tuf G VTR (WolPIG)
2. %
The drug cimetidine (Tegamet) prevents the interaction of histamine with
receptors of stomach wall
QBEIGE(E35E) S Svothy 838 ¥ (TELS Ko (PIrFLS” SrHdo 8308 WU
AT B
3. %
Metal hydroxides increase the pH of stomach above neutrality.
S TEPSY e 8538 o pH Denaiady 298 pH Dendd $5°) doh@Pow
4.9

Question Number : 156 Question Id : 7196501756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one among the following involves two nucleophilic substitution reactions?

800 TS’ Cotio SPgETIPDOE HAEDE SBZOES” FE'I o6

Options :



PR GyBr. s, 273K

(i) NaOH (aq)cese)
(1i1) CH;I

1. ®

Br (i) NaOH (aq)(=e)

Fd

(ii) H,0
(iii) Na
(iv) CH,I

(1) HCHO
- =
(i1) H;0
CeHsMgBr
(iii) Na
(iv) CH;l

(1) NaBH,4
—
CeHsCOCH, (1) H0
(iii) Na
(iv) CHal

Question Number : 157 Question Id : 7196501757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The major product n the following is

808 TS 9B B8y 0 VO?

(85)
O HI (excess)
>
373 K
Options
>COH/\
I
1. %
>CI/\
OH
2. &
>C/\
I
3.
)K/\I

4. %

Question Number : 158 Question Id : 7196501758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The major products P and Q i the following reactions, are

Soly SEg0E 0O &) €0 P 50008 Q 0 dudel.

H
Options :
P
OH
CHO
1. &
P
)
CHO
2. &
P
O
"HO

3.

(i) PCC
—> P

(@e)

(iii) NaOH (aq), A

S

(i) H;0

CO,H

: CHO

CO,H

: :CHO

P

Q



OH O

CHO . !

Question Number : 159 Question Id : 7196501759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The major product of the following reactions is
800 WSS 9OF GBS 0 0.
(i) PCls

CO,H —_—

Options :
OH
1%
CHO
2
CHO

Cl

3. %



OH

Cl

4.

Question Number : 160 Question Id : 7196501760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one among the followings is most basic?

800 TPRES” BHRE TS D3ETSe DI 8.

Options :
NH,
CF,
1. ®
NH,
CCl;
2.
NH,
CCl,



4.

NH,

CF;



